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21281701611 | & B —bemhipkrcs B E = wemiiiiiA g 2RieEl | 4 aRlep ik fh a2 (B)| 113.43 | 106.3 219.68 73.23 73.23
21243302719 |H B =ik B E = wkemiiiiiAuy 2RieHl | 4SRRI i aRlE L (B)| 112 | 106.8 218.75 72.92 72.92
21281903204 | H B —kmhifiRkrcs B8 —wkemidiiiA oy 2ERieH L | 4 SRR i aRlE L (B) | 113.56 | 99.5 213.06 71.02 71.02
21281903421 |H B —bmhifikrcs B E =ity 2RieEL | 4SRRI i aRlE L2 (B) | 105.44 | 103.3 208.69 69.56 69.56
21243302902 |H B —bephiRrcs B E = wkmiiiiA by 2RieEl | 4SRRI faRlE L (B) | 11111 97 208.11 69.37 69.37
21243301812 |H B —bemhiffkrcs B E = wkemiiiiiA oy 2RieEl | 4 aSReE ik i aRlt L2 (B)| 119.58 | 86.75 206.33 68.78 68.78
21281901021 |H B —bemhiffArc B E =ity 2Rie#Hl | 4 SRlp ik fhaRl L2 (B)| 104.18 | 100 204.18 68.06 68.06
21243302620 |H B =ik B E = wkemiiiiiAuy 2RieEl | #haReE L i aRlE L (B)| 97.93 | 105.8 203.68 67.89 67.89
21281706422 |H B =ik B E = wkemidiiiA gy 2ERie#Hl | 4 SRR i aRlE L (B)| 105.85 [ 96.5 202.35 67.45 67.45
21243302911 |H B —bemhifkrocs B E = wemiiiiiA by 2RieEl | 4 SRR i aRlE L (B)| 94.41 | 107.3 201.66 67.22 67.22
21243300215 |H B =ik B E = wkmiiiiihuy R0 El | 4SRRI i aRlE L (B)| 101.49 | 99 200.49 66.83 66.83
21281700901 |E B —kemhiffRkrcs B E = wkemiiiiiA by 2RieEl | 4 aSRep ik fhaRlt L (B)| 87.11 | 1125 199.61 66.54 66.54
21281903426 |H B —bkphiiRkrcs B E = wkemiiiiiA gy 2RieHl | #haReE e i aRlE L (B)| 97.37 | 100.8 198.12 66.04 66.04
21281706129 |H B —bkmhifpkrcs B E =ity 2RieEl | 4 SRR i aRlE L2 (B) | 100.37 | 96.75 197.12 65.71 65.71
21281705310 |H B —bemhifiRkrcs B E =ity 2RieEl | 4 aRep ik i aRlt L2 (B) | 102.12 | 93.75 195.87 65.29 65.29
21243303017 |H B —Wemhifpkrocs B E = wemiiiiiA by 2RieEl | 4 SRlep ik fhaRlt L (B)| 94.54 | 99.75 194.29 64.76 64.76
21281904525 |H B —kmhikrcs B8 = wkemhiiiia by 2Rie Ll | 4k SRlE Lk phaRE L2 (B)] 90.07 | 103 193.07 64.36 64.36
21243303116 |H S —bephifpkrc B E = wkmiiiiiA g 2RieEl | 4 SRR fhaRlE L (B)| 98.25 | 94.75 193 64.33 64.33
21281904305 |H B —bkmhifRrcs B E = wkemiiiiiA .y 2RieEl | 4 SRR i aRlE L (B)| 96.98 | 95.25 192.23 64.08 64.08
21281702911 |H B =ik B E = wkemidiiiAuy 2ERie#Hl | 4 ek i aRla L (B)| 95.16 | 96.5 191.66 63.89 63.89
21281703614 |H B —bkphifikrcs B E = wkemiiiiiA by 2RieEL | 4 SRR iRl L (B)| 94.88 | 96.75 191.63 63.88 63.88
21281702102 |H B =ik B E —wkemidiiihuy ke #Hl | 4 ek i aRle L (B)| 92.09 | 935 185.59 61.86 61.86
21281903517 |H B —bkmhifRkrcs B E = wkemiiiiiA by 2RieEl | 4 SReE ik fhaRlt L2 (B)| 79.42 | 105.3 184.67 61.56 61.56
21281903028 | H B —WkmhiiArcs B E =ikt rbuy 2RieEl | 4SRRIk i ARl (B)| 75.02 | 108 183.02 61.01 61.01
21281700211 |H B —bemhiffRrc B E =ity 2RieEl | 4 SRlE 2k fhaRl L (B)| 79.9 | 102 181.9 60.63 60.63
21281901812 |H B —kmhifiArcs B E —wkemiiiiiArhuy 2RieEl | 4 SRE i fhaRl L (B)| 89.74 | 92 181.74 60.58 60.58
21281902814 |H B —kmhifikrcs B E =ity 2RieEL | 4SRRI i aRlE L (B)| 89.86 | 91.75 181.61 60.54 60.54
21243302421 |H B =ik B E = wkmiiiiiahuy 2Rie Ll | 4SRRI i ARl (B)| 99.19 | 82.25 181.44 60.48 60.48
21281706801 |H B —kmhifiArcs B E —wkemidiiihuy 2ERieHl | 4 ek i aRle L (B)| 97.83 | 825 180.33 60.11 60.11
21281702630 |H B =ik B E = wkemidiiihuy 2ERieHl | 4 SRR i aRlE LI (B)| 84.7 | 9556 180.2 60.07 60.07
21281701807 |H B —kemhifiikrcs B8 —wkemidiiiA iy 2Rie#Hl | 4 ekl ik i aRlaLH2s (B)| 85.18 | 935 178.68 59.56 59.56
21243302316 |5 =ikahipde /8 = ikmiditik gy SACE L | 4 aRler ik faRle L2 (B)| 79.21 99 178.21 59.40 59.40
21281903905 | ‘B & —kmhiiiArcs B8 —wkemidiiii oy 2ERieHl | 4 aReE T i aRlE L (B)| 83.22 | 935 176.72 58.91 58.91
21243300218 | B —bkmhiiRrcs B E = wkemiiiiiA oy 2RieEL | 4SRRI iRl (B)| 86.88 | 89.25 176.13 58.71 58.71
21281703804 |H B —kmhifRkrcs B E = wkmiiiiiA by 2ReEL | 4SRRI iRl (B)| 84.4 | 89.75 174.15 58.05 58.05
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21281705227 | BB =R UL B8 g A b ABHAICE L | aRE R HaRE LR (B)] 82.98 [ 89 171.98 57.33 57.33
21281702105 |58 =Wk O BB =g AL AT E L | Rl HaRlE L% (B)| 93.15 | 78.25 171.4 57.13 57.13
21281704110 |5 =BEEIEA 0 BB =g AL 2EAICE L | Rl HaRlE L% (B)]| 84.94 | 855 170.44 56.81 56.81
21281702206 |5 —WEEEA O S g AL AT E D | Rl HARRE LS (B)| 86.68 | 82.25 168.93 56.31 56.31
21281701804 | =Wk 0 BB =g AL BRI E L | Rl HaRE LS (B)| 8341 | 83.25 166.66 55.55 55.55
21243301508 |58 —BEEiEA o0 B8 =g Ay SR E L | Rl HaRE LR (B)| 88.6 | 77.75 166.35 55.45 55.45
21281902325 |8 kR L BB g AL SRR E L | SRR HaRE LS (B)| 75.72 | 86.75 162.47 54.16 54.16
21243300919 |‘H B =gtk B8 =ikphiiiirbr] SEAIDEL | 4 SRE TR jEaRlE L2 (B)| 95.48 | 66.5 161.98 53.99 53.99
21281700720 |58 =Wk 0 BB =g AL A E L | Rl HaRE LR (B)| 80.15 | 75.75 155.9 51.97 51.97
21281701015 |8 =Bk O BB =g AL SEAICE L | Rl ARl L% (B)| 9353 | 61.25 154.78 51.59 51.59
21281700506 |5 =Wk b0 B S =g AL SEAICE L | Rl HaRlE L% (B)] 69.24 | 755 144.74 48.25 48.25
21243300426 |5 =eghiitiddc /8 =iph A by Stiac# 1 | aRla B MapE LRk (B) | B | B 0 0.00 0.00
21243301529 |‘HE =eghiftiddue /8 =iph ik by Sidac# 1 | apla bt MaplE LRk (B) | B | B 0 0.00 0.00
21243302008 |‘fE =eghiftiddc /B =iph ik by Siac# 1 | aRla B MaplE LRk (B) | B | B 0 0.00 0.00
21243302303 |‘HE =eghiitiddc /B =iph A by Sidac# 1 | HaRla B MaplE LRk (B) | B | B 0 0.00 0.00
21243303030 |5 =eghiitidde /8 =imh ik by Siac# 1 | HaRlE B MaplE LRk (B) | B | B 0 0.00 0.00
21281700314 |‘FE =eghiftiddc [/ B =iph ik by S #1 | fapla bt Maplr Lk (B) | b | B 0 0.00 0.00
21281700709 |‘HE =eghliftiddc /B =ieph ik by 2idac#1 | fapla bt Maplr Lk (B)| b | B 0 0.00 0.00
21281701116 |‘FE =eghliftiddc /B =iph ik by Siac#1 | fapla bt Maplr Lk (B) | b | B 0 0.00 0.00
21281701425 |‘HE =eghiftiddc /B =iph ik by S #1 | fapla bt Maplr Lk (B)| b | B 0 0.00 0.00
21281701829 |‘HE =eghliftidrc [/ B =ieph ik by Siac#1 | Hapla bt Maplr Lk (B)| b | B 0 0.00 0.00
21281702724 |‘HE =eghiitidrdc [/ B =iph ik by Siac#1 | apla bt MaplE LRk (B) | B | B 0 0.00 0.00
21281702826 |‘FE —eghliitidrc [/ B =ieph A by Siac# 1 | HaRla B MaplE LRk (B) | B | B 0 0.00 0.00
21281703916 |5 =eghiitiddc [/ B =iph ik by Siac#1 | Hapla Bt MaplE LRk (B) | B | B 0 0.00 0.00
21281705704 |‘HE =eghliftiddc [/ B =iph ik by S #1 | fapla bt Maplr Lk (B) | B | B 0 0.00 0.00
21281705717 |‘HE =eghliitiddc [/ B =iemh ik by S #1 | fapla bt Maplr Lk (B)| b | B 0 0.00 0.00
21281706325 |‘HE =eghiitiddc /B =iph ik by Siac# 1 | apla B MaplE LRk (B) | B | B 0 0.00 0.00
21281706821 |‘FE —eghliftidrdc [/ B =iph A by Siac# 1 | HaRla Bt MaplE LRk (B) | B | B 0 0.00 0.00
21281901621 |‘FE =eghliftidrc [/ B =iemh ik by 2iac#1 | fapla bt Maplr Lk (B) | b | B 0 0.00 0.00
21281901815 |‘f 5 =meghliftidrc [/ B =ieph ik by Siac#1 | Hapla bt Maplr Lk (B)| B | B 0 0.00 0.00
21281901911 |‘F 5 =weghliitidrc [fr B =ieph ik by Siac#1 | Hapla bt Maplr Lk (B)| b | B 0 0.00 0.00
21281902010 |‘FE =weghliftidrc /B =ieph ik by Siac#1 | fapla bt Maplr Lk (B) | b | B 0 0.00 0.00
21281902223 |‘HE =eghiftidrdc [/ B =iph A by Siac# 1 | HaRla B MaplE LRk (B) | B | B 0 0.00 0.00
21281903525 |‘F 5 =eghiitiddc [/ B =iph ik by Siac# 1 | HaRla Bt MaplE LRk (B) | B | B 0 0.00 0.00
21281903717 |‘HE =eghliitidrc [/ B =ieph ik by S #1 | fapla bt Maplr Lk (B)| b | B 0 0.00 0.00
21281904026 |5 =eghiitiddc [/ B =ieph ik by Siac#1 | HaRla B MaplE LRk (B) | B | B 0 0.00 0.00
21281904406 |5 =eghiftiddc /B =ieph ik by Sidac#1 | Hapla bt Maplr LRk (B)| B | B 0 0.00 0.00
21281904410 |‘FE =eghiftiddc /B =iph ik by Sidac#1 | Hapla bt Maplr Lk (B)| b | B 0 0.00 0.00
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21281701416 | BH.E =ik B8 =gty ko2 | SRk faRlep L2k (B)] 11072 | 111.3 221.97 73.99 73.99
21243302005 | ‘B =il e BB = ikahiiaron iAo 2 | SRR jESRELR2E (B)] 110.04 [ 103 213.04 71.01 71.01
21243301327 | BH.E =gl BB =gy ko2 | SRR fESREL L (B)] 11564 [ 955 211.14 70.38 70.38
21281900525 | ‘H.E =gk e BB =ikah iAoy iAo 2 | SRR R kSRR L 2L (B)] 116.2 | 91.75 207.95 69.32 69.32
21281903010 | ‘BE =itk e BB =kah ity iAo 2 | SRR kSRR L H2E (B)] 101 | 100.3 201.25 67.08 67.08
21281902302 |‘HE —leghiitiarhe B8 =ikpiiitiarbor] SERi0E2 | 4 SRlE T2k i aRlEL 2k (B)| 91.65 | 109 200.65 66.88 66.88
21281703405 | ‘H.E =il BB =gtk oy iAo 2 | SRR fESREL 2L (B)] 107.64 | 92.5 200.14 66.71 66.71
21281904527 | ‘H.E =ik e BB =gk oy ke E2 | SRR fEAREL R (B)]| 94.27 | 104 198.27 66.09 66.09
21281902908 |‘H B~k B8 =gt SEAIEE2 | 4 SRE T2k ki aRlELH2 (B)| 91.65 | 105.8 197.4 65.80 65.80
21281706809 | ‘B =gtk ey BB =ikah ik roy 2iAic 2 | SRR fESRELR2E (B)] 99.35 | 96.5 195.85 65.28 65.28
21281701609 | B =ik e BB =gty aiAic 2 | SRk faReE L2k (B)] 116.98 | 71.75 188.73 62.91 62.91
21243300822 |‘HE =gt B8 Zikphiiikrpor] SEIA0E2 | #hSRlE T2 i oRle L2k (B)| 89.89 | 97.25 187.14 62.38 62.38
21243300616 | B =ik e BB =gty iAo 2 | SRR R kSRR L 2L (B)| 78.42 | 1085 186.92 62.31 62.31
21243300108 | ‘B =il BB =gty iAo 2 | SRR SRR L R2E (B)] 93.74 | 925 186.24 62.08 62.08
21281901404 | H.E =ik B8 =gtk oy ke g2 | SRR faReE LRk (B)] 84.16 | 100 184.16 61.39 61.39
21281700321 | ‘H.E =ik e BB =gty iAo 2 | SRRk kSRR L 2L (B)] 93.39 | 89.25 182.64 60.88 60.88
21243302217 | BH.E =gk BB =gty ko2 | SRRk jESREL 2L (B)] 100.06 | 78.75 178.81 59.60 59.60
21243302611 | B =gl BB =gy ko2 | SRR fESRELR2E (B)] 104.76 | 735 178.26 59.42 59.42
21243302007 | ‘BH.E =ik e BB =gty ko2 | SRRk kSRR L 2L (B)| 85.42 | 89.25 174.67 58.22 58.22
21281705314 | B =ik e BB =gty ko2 | SRR kSRR L 2L (B)| 88.96 | 82.75 171.71 57.24 57.24
21281703803 | ‘B =ik e BB = kg iAoy iAo 2 | SRR kSRR L 2L (B)] 100.47 | 70.25 170.72 56.91 56.91
21281900128 | ‘B =itk e BB =gty iAo 2 | i SReE LR fEaRELH2E (B)]| 819 | 86.75 168.65 56.22 56.22
21243300411 | B =gk BB =g iiaron ko2 | SRR faRleE LRk (B)| 79.71 | 87 166.71 55.57 55.57
21281704901 | ‘B =gtk e BB =gty Ao 2 | SRR fESRELR2E (B)| 75.75 | 89.5 165.25 55.08 55.08
21243301527 | ‘BH.E =lEmhiiR e BB = ikah iy iAo 2 | SRRk kSRR LK (B)| 89.55 | 71.25 160.8 53.60 53.60
21281704630 | B =itk BB =gty iAo 2 | SRR SRR L 2L (B)] 70.02 | 90.5 160.52 53.51 53.51
21243300208 | B & =iy i B =gtk dr) itkie#2 | #aklerfil apl LRk (B)| 85.8 74 159.8 53.27 53.27
21243300620 |‘H S =gk 58 =ikphitikpr] SERigE2 | #hSRlr T2k fhople L2k (B)| 87.63 | 71.75 159.38 53.13 53.13
21281701927 | ‘H.E =il e BB =gty iAo 2 | SRRk kSRR L 2L (B)| 80.23 | 63.25 148.48 49.49 49.49
21281900602 |‘H B =gtk B8 =gty SEAIDE2 | #ESRE T2k pEoRlE L2k (B)| 75.98 | 7256 148.48 49.49 49.49
21243302820 |‘H B =gtk B8 =gty SEAIDE2 | #ESRE TR jEaRlE L2 (B)| 57.66 | 90.5 148.16 49.39 49.39
21281702325 | ‘B =ik BB =gy ko2 | SRR fESRELE (B)] 63.64 | 845 148.14 49.38 49.38
21281900904 | B =gtk e BB =gty Ao E2 | SRR SRR L L (B)| 72.29 | 715 143.79 4793 47.93
21281701105 | ‘B =ik e B8 =gty iAo 52 | SRk fapler L2k (B)| 66.01 | 67.75 133.76 44 59 44 59
21243303119 | B E =gk B8 =ik iiiaron ko2 | SRR i aReE LRk (B)] 56.09 | 63 119.09 39.70 39.70
21243300111 |‘FE =eghliftiddc /B =iph ik by Skt #2 | fapla bt Maplr Lk (B)| b | B 0 0.00 0.00
21243300116 |5 =eghiftiddc /B =iph ik by S #2 | fapla bt Maplr Lk (B) | b | B 0 0.00 0.00
21243301112 |‘FE =eghiftiddc /B =iph ik by St #2 | fapla bt Maplr Lk (B)| b | B 0 0.00 0.00
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21243301123 |‘HE =eghiitiddc /B =iph ik by S #2 | apla bt Maplr Lk (B) | B | B 0 0.00 0.00
21243301705 |‘FE =eghiftiddc /8 =iph ik by Skt #2 | fapla bt Maplr Lk (B) | b | B 0 0.00 0.00
21243301911 |‘FE =eghliftiddc /B =iph ik by it #2 | fapla bt Maplr Lk (B)| b | B 0 0.00 0.00
21243302101 |‘FE =eghliitiddc /B =iph ik by St #2 | fapla bt Maplr Lk (B)| B | B 0 0.00 0.00
21243302113 |‘HE =eghiitiddc /B =iph ik by S #2 | apla bt Maplr LRk (B)| B | B 0 0.00 0.00
21243302615 |5 =eghiftidde /8 =iph ik by S #2 | apla bt MaplE LRk (B) | B | B 0 0.00 0.00
21281700421 |‘HE =eghiftiddc /B =iemh ik by St #2 | fapla bt Maplr Lk (B)| b | B 0 0.00 0.00
21281700523 |‘HE =eghliitiddc [/ B =iph ik by S #2 | Hapla bt Maplr LRk (B) | B | B 0 0.00 0.00
21281700624 |‘HE =eghiftiddc [/ B =iph ik by Sk #2 | fapla bt Maplr Lk (B)| B | B 0 0.00 0.00
21281701218 |‘HE =eghliftiddc [/ B =ieph ik by it #2 | fapla bt Maplr Lk (B) | b | B 0 0.00 0.00
21281702230 |‘HE =eghiftiddc /B =iph ik by Sk #2 | iapla bt Maple LRk (B) | B | B 0 0.00 0.00
21281702320 |‘HE =eghiitidde [/ B =iph ik by S #2 | fapla bt Maplr LRk (B)| B | B 0 0.00 0.00
21281702804 |‘HE —eghliftidrc [/ B =ieph ik by it #2 | Hapla bt Maplr Lk (B)| B | B 0 0.00 0.00
21281702927 |‘HE =eghiitiddc /B =iph ik by i #2 | Hapla bt Maplr LRk (B) | B | B 0 0.00 0.00
21281702930 |‘FE =eghliitiddc /B =ieph ik by i #2 | Hapla bt Maplr LRk (B)| B | B 0 0.00 0.00
21281703515 |‘F 5 =eghiitidde [/ B =ieph ik by S #2 | iapla bt Maplr Lk (B)| B | B 0 0.00 0.00
21281703923 |‘HE =eghiitiddc [/ B =iph ik by i #2 | Hapla i MaplE LRk (B) | B | B 0 0.00 0.00
21281704425 |‘HE =eghiitiddc /B =iph ik by S #2 | iapla bt Maplr Lk (B)| B | B 0 0.00 0.00
21281704830 |‘FE =eghliftidrc [/ B =ieph ik by i #2 | Hapla bt Maplr Lk (B) | B | B 0 0.00 0.00
21281705214 |‘HE =eghiftiddc /B =iph ik by Skt #2 | fapla bt Maplr Lk (B)| b | B 0 0.00 0.00
21281706630 |5 =eghliftidrc /B =iph ik by Sk #2 | fapla bt Maplr LRk (B)| B | B 0 0.00 0.00
21281900208 |‘H & =eghliitidrc [/ B =ieph ik by ik #2 | fapla bt Maplr Lk (B)| B | B 0 0.00 0.00
21281900819 |‘f 5 —meghliftidrcs [/ B =ieph ik rpr) it #2 | Hapla bt Maplr Lk (B) | b | B 0 0.00 0.00
21281901401 |5 =weghliftiddc [/ B =ieph ik by S #2 | Haplatidt Maplr Lk (B)| b | B 0 0.00 0.00
21281901712 |‘HE =eghliftidrc [/ B =ieph ik by i #2 | fapla bt Maplr Lk (B)| b | B 0 0.00 0.00
21281902006 |‘FE =weghliitidrc /B =iph ik by S #2 | Hapla bt Maple Lk (B)| B | B 0 0.00 0.00
21281903429 |‘HE =eghiftidrdc [/ B =iph A by Stikac#2 | Hapla bt MaplE LRk (B) | B | B 0 0.00 0.00
21281904126 |‘FE =eghiitiddc [/ B =iph ik by Siiac#2 | Hapla bt MaplE LRk (B) | B | B 0 0.00 0.00
21281904429 |‘HE =eghiftidrdc [/ B =iph A by Sikac#2 | Hapla bt MaplE LRk (B)| B | B 0 0.00 0.00
21243300611 |5 =kphidtik o [/ B =ipiiiiddy] Skic g3 | Rl karkE LRk (B)| 113.12] 1085  221.62 73.87 73.87
21281701222 | BB =Ukphidtik b [ B =iepiitidry] ke g3 | iRl kaRlE LRk (B)| 106.17 | 1115 217.67 72.56 72.56
21281901105 |5 =Wk .0 BB =ikg AL SEAICE3 | Rl ARl L% (B)| 114.65 | 100.3 2149 71.63 71.63
21243300422 |5 =R L S g AL BRI E 3 | Rl M aRE L (B)] 9347 | 112 205.47 68.49 68.49
21243300314 | B =m0 B B =ipitiddy] ke g3 | iRl kaRE LRk (B)| 101.28 | 102.8]  204.03 68.01 68.01
21281703622 | LB =m0 B B =ikpitii o] ke E3 | Rl i a2 (B)] 11149 [ 8825 199.74 66.58 66.58
21281901520 |8 =Wk O BB =ikg AL SEAICE3 | Rl HaRlE LS (B)| 107.55 | 79.75 187.3 62.43 62.43
21243300120 |5 =W oL B S =ikgi Ay SEAICE3 | Rl ARl L2 (B)] 83.89 | 82.5 166.39 55.46 55.46
21281704105 |5 =R O B S =g AL A0 E3 | Rl HaRE LS (B)| 74.25 | 89.75 164 54.67 54.67
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21281901127 | BB =Wk .0 B B =ikgi AL 2EAICE3 | HaRlE e Mol L% (B)] 75.99 | 81.5 157.49 52.50 52.50
21281901709 |5 =Wk .0 BB =g AL SEAICE3 | Rl HaRE LR (B)| 69.49 | 74.75 144.24 48.08 48.08
21281701708 |‘HE =eghliitidrc [/ B =iph ik by i #3 | fapla bt Maplr Lk (B) | b | B 0 0.00 0.00
21281702003 |‘FE =eghiitiddc [/ B =iph ik by ik # 3 | Hapla bt Maplr LRk (B) | B | B 0 0.00 0.00
21281704001 |‘FE =weghliitiddc [/ B =ieph ik by ik #3 | Hapla bt Maplr Lk (B)| b | B 0 0.00 0.00
21281705710 |‘FE =eghiftiddc /8 =ieph ik by 2k #3 | fapla bt Maplr Lk (B)| b | B 0 0.00 0.00
21281705802 |‘HE —meghliftidrcs [fr B =ieph ik rpr) i #3 | Hahla bt Maplr Lk (B)| B | B 0 0.00 0.00
21281901310 |‘FE =eghliitidrc /B =iph A by S #3 | fapla bt Maplr Lk (B)| b | B 0 0.00 0.00
21281902204 |‘HE =eghliitiddc [/ B =iph ik by S #3 | Hapla bt Maplr LRk (B) | B | B 0 0.00 0.00
21281903304 |‘HE —eghliftidrdc [/ B =iph ik by S # 3 | HaRla b Maplr Lk (B)| B | B 0 0.00 0.00
21281903408 |‘F 5 =eghliitidrc [/ B =iph ik by Sikac#3 | fapla bt Maplr Lk (B) | b | B 0 0.00 0.00
21281904421 |‘HE =eghiftiddc [/ B =iph ik by Sk #3 | Hapla bt Maplr LRk (B) | B | B 0 0.00 0.00
21281703925 |5 =Wk L B B kg AL BRI EA | Rl ARl L2 (B)] 103.16 | 66.5 169.66 56.55 56.55
21281706115 |5 =Wk O BB =ikgi AL 2RI EA | Rl HAaRE LS (B)| 76.65 | 92.75 169.4 56.47 56.47
21281701714 |8 =W O BB =g Ay A0 E4 | HaRlE Lt a2k (B)| 91.15 | 77.25 168.4 56.13 56.13
21243300103 |58 =B b0 BB =ikgi Ay SR EA | SRR HARE LR (B)| 84.96 | 79.25 164.21 54.74 54.74
21281706608 |‘H 5 —lghiiiArhur B8 =ikphiiihrpr] SEIRi0E4 | 1 SRlE T2 foRle L2k (B)| 954 | 67.75 163.15 54.38 54.38
21243302205 |5 =R S g Ay SR E A | Rl HARE LS (B)] 86.29 | 71.25 157.54 52.51 52.51
21281701524 |8 =Wk 0 BB =ikgi by BRI EA | Rl ARl L (B)] 58.32 | 785 136.82 45.61 45.61
21281703618 |5 =eghiitidrdc /B =iph ik by Skt # 4 | iopla bt Maplr Lk (B)| b | B 0 0.00 0.00
21281704821 |‘HE =eghliitidrc [/ B =ieph ik by Sikic#4 | Hapla bt MaplE LRk (B)| B | B 0 0.00 0.00
21281900102 |‘FE =weghliftidrc [/ B =iph ik by Skt # 4 | Hopla bt Maplr Lk (B)| b | B 0 0.00 0.00
21281900804 |‘FE —meghliftidrcs [/ B =ieph A rpr) Skt #4 | Hapla bt Maplr Lk (B)| b | B 0 0.00 0.00
21281901308 |‘F 5 =eghliitidrc [/ B =ieph ik by Skt #4 | opla bt Maplr Lk (B)| b | B 0 0.00 0.00
21281901510 |‘F 5 =weghliftiddc /B =ieph ik by Skt #4 | Hopla bt Maplr Lk (B)| b | B 0 0.00 0.00
21281901801 |‘F 5 —meghliftidrc [fr B =ieph ik rpr) Skt #4 | Hopla bt Maplr Lk (B)| b | B 0 0.00 0.00
21281903121 |[‘HE =eghiftiddc [/ B =ieph ik by Skt #4 | Hopla bt Maplr LRk (B)| b | B 0 0.00 0.00
21281702118 | B =kl b0 [ B =iepiitiArdy] ke %5 | Rl kaRlE LRk (B)| 11043 ] 1203 230.68 76.89 76.89
21281704504 | =Wk L BB =g AL BRI ES | Rl HaRE LS (B)] 112.03 | 112 224.03 74.68 74.68
21243303103 |5 ZBEEEA O S g AL SEAICES | Rl HaRE LS (B)] 104.73 | 104 208.73 69.58 5 | 74.58
21281705127 | LB =Ukphidtik b [ B =iepitidrdoy] ke %5 | Rtk kaRlE LRk (B)| 117.21 | 1048 221.96 73.99 73.99
21243301702 | B 5 =WEEEA UL B S SiE A bn SBHAICES | aRlE R Rl L (B)| 10791 [ 97 204.91 68.30 5 [73.30
21243300917 | BB =kmit ik b B B =ikpitiidor] ke ES | Rtk i a2k (B)] 95.34 [ 1095  204.84 68.28 5 [ 73.28
21281900818 | & =Wkt b0 [ B =ikepitiArdy] ke %5 | Rtk kaRlE LRk (B)| 94.23 |107.8]  201.98 67.33 5 [72.33
21281703913 | B =kt b0 [ B =iepiitiAry] ke E5 | Rl kaRlE LRk (B)| 114.31 | 101.8]  216.06 72.02 72.02
21281900316 | =Ukphidtik b [ B =ikpitidrdy] ke %5 | Rl karlE LRk (B)| 114.33 | 101.3]  215.58 71.86 71.86
21281702116 |5 —WEEEA L B S =ikg AL SEAICES | Rl Mol L 2 (B)] 116.17 | 98.5 214.67 71.56 71.56
21243300628 |‘HE =g 18 =ikphitikrpor] SEIAREES | #h SRR T2 ARl L2k (B) [ 109.27 | 105.3 214.52 71.51 71.51
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21281704912 |‘H B =ik 18 =gt SEAIEES | 4 SRE T2k jEaRlE L2k (B)| 112.75 | 100.8 213.5 71.17 71.17
21281702517 |HE kiR d.c B E —ikmh iRy iRieES | 4SRRIk i aRE L (B) [ 107.89 | 103.5 211.39 70.46 70.46
21243301411 | B =ik B E = wemiiiiiiuy 2ERe#ES | 4 ek i aRltLHs (B) | 104.34 | 106.8 211.09 70.36 70.36
21281704430 |H B —bphifiRkrcs B E —wkemiiiiiAuy 2ERe#ES | #haReE i i aRlE L (B)| 1085 | 101.8 210.25 70.08 70.08
21281700629 |H B —bemhiRrcs B E = wkemiiiiArhuy 2RieES | 4 aSRE L fhaRlE L (B) | 111.13 | 99 210.13 70.04 70.04
21243301712 | B =ik B E =iy 2ERe#ES | 4 ek iRt LR (B) | 105.25 | 104.8 210 70.00 70.00
21281702429 |H B —Wphikrcs [ E =ity 2RieES | 4k SRR iRl L (B) | 114.38 | 95.25 209.63 69.88 69.88
21243301116 |H S =ik B E = wkemiiiiiA g 2RieES | 4 aRep ik fhaRlt L2 (B) | 103.92 | 105.3 209.17 69.72 69.72
21281703123 |H B —bkmhikrcs B E = wkemiiiiiA by 2RieES | 4 aReE ik fhaRlt L2 (B) | 102.68 | 105.3 207.93 69.31 69.31
21281701001 |E B —bemhiffkrcs B E = wkemiiiiiA by 2RieES | 4 aRlep i i a2 (B) ] 102.26 | 105.5 207.76 69.25 69.25
21281901218 |H & —bkmhifiRrcs B E = wkmiiiiiA by 2RieES | 4 aRleE ik fhaRlt L (B)| 99.58 | 107.3 206.83 68.94 68.94
21281903322 |H B =ik rcs B8 = wkemidiiiA gy 2EReES | #haRE L i aRlE L (B) | 102.89 | 102.8 205.64 68.55 68.55
21281703225 |H B =ik rcs B8 —wkemiiiiiA gy 2EReES | #haReE L i aRlE L (B)| 89.73 | 100.8 190.48 63.49 5 | 68.49
21243302121 |H B —Wephifpkrocs B E = wkemiiiiiA .y 2RieES | 4 SRR iRl L (B)| 94.22 | 1105 204.72 68.24 68.24
21281700329 |‘H B =ik B E =ik 2ERieHS | #haRkeE e i aRlE L (B) | 111.16 [ 935 204.66 68.22 68.22
21281703921 |H B —kmhifiRkrcs B E = wkemiiiiiA oy 2RieES | 4 aReE i i aRlE L2 (B) | 101.06 | 103.5 204.56 68.19 68.19
21281901901 |H B —bkemhiffArcs B E = wkemiiiiA by 2ReES | 4t aRE L2k i aRlt L2 (B)| 108.52 | 96 204.52 68.17 68.17
21243302924 |H B =ik rc B E =iy R0 ES | kSRR i AR (B)| 1034 | 100 203.4 67.80 67.80
21281900106 | E B —kmhifiRrcs B E = wkemiiiiiA by 2RieES | 4t aRleE i fhaRlE L2 (B)| 96.91 | 91.25 188.16 62.72 5 |67.72
21243302211 |H B =ik B E =iy 2ERie#HS | 4 ekl i aRlE L HgE (B) | 103.17 [ 99.5 202.67 67.56 67.56
21281706125 |H B —kmhifiRkrcs B E =ity 2RieES | 4 aReE i i aRlE L2 (B) | 102.14 | 100.3 202.39 67.46 67.46
21281700312 |H B —kmhifRkrcs B E = wemiiiiiA by 2RieES | 4 aRlep ik fhaRlt L2 (B) | 102.19 | 99.75 201.94 67.31 67.31
21281903504 | H B —kmhifikrcs B E = ikemiiiiiA by 2RieES | 4SRRI i ARl (B) ] 109.66 | 92.25 201.91 67.30 67.30
21281701316 |H B —bephikrcs B E = wkemiiiiiA g R0 ES | #haRlep ik fh a2 (B)| 101.42 | 100.3 201.67 67.22 67.22
21281704006 |H B =ik B E = wkemidiiih oy 2ERieHS | 4t ekl i aRlE L (B) | 109.15 | 91.5 200.65 66.88 66.88
21281705111 |H B —bemhiffkrcs B E = wkemiiiiiA by 2RieES | #haRlep i fh ol L2 (B)| 105.25 | 95.25 200.5 66.83 66.83
21281706629 | B —khiiikrcs B E = wemiiiiii gy 2ERCES | #h SRR i aRlE LSS (B)| 95.14 | 104.8 199.89 66.63 66.63
21243303126 |H S =ik B E =iy 2ERie#HS | 4 aRkeE Lk i aRlE L (B) | 103.35 | 96.5 199.85 66.62 66.62
21281705026 |H B —kmhifikrcs B E = wkemiiiiiA .y 2RieES | 4 SRR i ARl L2 (B) | 100.47 | 99.25 199.72 66.57 66.57
21243302705 |H B —bephifpkrocs B E = ikemiiiiiA oy 2RieES | #h SRR i ARl (B) | 101.15 | 98.25 199.4 66.47 66.47
21281900820 | B —kmhifiArcs B E = wkemiiiiiA by 2RieES | 4 SRR i aRlE L2 (B) | 105.67 | 93.25 198.92 66.31 66.31
21281702713 |H B —kmhifikrocs B8 —wkemidiiii gy 2ERie#HS | 4t ekl i aRlaLHds (B)| 114.33 | 83.5 197.83 65.94 65.94
21243302825 |H B —kphifiRrcs B E = wkemiiiiiA gy 2EReES | #h SRR i aRlE LS (B)| 859 [ 111.8 197.65 65.88 65.88
21281902026 | B~k rcs B E —wkemiiiiiA gy 2EReES | #haReE L i aRlE LS (B)| 96.8 | 100.8 197.55 65.85 65.85
21281904014 | B —khifiikrcs B8 —wemidiiiA .y 2ERe#HS | 4 SRR i aRlE L (B) | 102.79 | 94.5 197.29 65.76 65.76
21281702718 |H B —bkmhifRkrcs B8 = wkemiiiiiA by 2RieES | 4 aRleE i fh Rl L2 (B)| 98.47 | 98.75 197.22 65.74 65.74
21281701715 |H B —bkmhiffkrcs B E = wkemiiiiiA by 2RieES | 4 aRlep ik fh a2 (B) | 100.45 | 96.75 197.2 65.73 65.73
21281705217 |H B —WehifRrcs B E = wkemiiiiiArhuy R0 ES | 4 aSReE L fhaRlE L (B)| 99.19 | 98 197.19 65.73 65.73
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21281704718 |'HE —leghiiiArpr 18 =ikphiiikrpor] SEIAR0ES | #hSRlE T2 fhoRle L2k (B)| 9459 | 1025 197.09 65.70 65.70
21281902506 |‘H & =gtk 58 =ikphiiiArpr] SEAREES | #hSRlE T2 fhoRl2e L2k (B) [ 105.04 | 91.75 196.79 65.60 65.60
21281706111 |‘HE =gtk 58 =ikphiiiApr] SEAREES | #hSRlr L2 fhopl2e L2k (B) [ 106.02 | 89.75 195.77 65.26 65.26
21243301206 |‘H B =gtk 1S =ipiiiiirhr] SEAIEES | 4 SRE T2k jEaRlELH2 (B)| 94.87 | 100.8 195.62 65.21 65.21
21243302426 |HE =gk 1S =ikphitikrpr] SEIAR0ES | #hSRlE T i oRlE L2k (B)| 92.99 | 102.3 195.24 65.08 65.08
21243300815 |‘HE =gtk /18 =ikphiiikrpr] SEIAREES | #hSRlE T2 i oRle L2k (B)| 98.85 | 96.25 195.1 65.03 65.03
21281705304 |‘HE =gtk 58 Zikphiiikrpr] SEIA0ES | #hSRlE T2 fhople L2k (B)| 97.71 | 97.25 194.96 64.99 64.99
21281904023 |'HE —eghiitiArpr 58 =ikphitiArpr] SEIAR0ES | #hSRlE L2 i opl2a L2k (B) [ 108.83 | 85.75 194.58 64.86 64.86
21281704927 | ‘H.E =itk e BB =g itk oy Ao E5 | SRR fESREL L (B)] 101.03 [ 93.5 194.53 64.84 64.84
21243301610 | B =ik B8 = ikah iy Ao Es | SRR fESREL L (B)] 94.78 | 99.5 194.28 64.76 64.76
21243303014 |'HE =gk 18 =ikphiiikrpr] SEIAR0ES | #hSRlr T2k fhople L2k (B)| 96.53 | 97.75 194.28 64.76 64.76
21243303110 |‘HE =gtk 58 =ikphitikrpr] SEAR0ES | #hSRlr L2 fhopl2a L2k (B) [ 105.03 | 89.25 194.28 64.76 64.76
21243302320 |‘HE —eghiiiarhe 18 =ikphitikrpor] SEIAR0ES | #hSRlE T2 i oRl2e L2k (B) [ 107.98 | 86.25 194.23 64.74 64.74
21281704215 | H.E =ik e BB =gty Ao E5 | SRR fESRELRE (B)] 109.38 | 84.5 193.88 64.63 64.63
21281903626 |‘H 5~k 18 =ikphiiiArpr] SEAR0ES | #hSRlE T2 i oRl2e L2k (B)| 93.03 | 85.75 178.78 59.59 5 | 64.59
21281902710 |‘HE —leghiitiArpr 58 =ikphiiiArpr] SEIAR0ES | #hSRlr L2 fhopl2a L2k (B) | 114.76 | 78.25 193.01 64.34 64.34
21243302512 |‘HE =gk |18 =ikphitikrpor] SEAREES | #hSRlE T2 fhoRle L2k (B)| 1003 | 91.75 192.05 64.02 64.02
21281901117 | ‘BH.E =gtk BB =gty Ao #5 | SR L faReE L2k (B)] 104.38 | 87.5 191.88 63.96 63.96
21281900929 |‘H B =gtk B8 = ikphiiiirbry] SEAICES | #ESRE TR jEARELH2 (B)| 97.29 | 945 191.79 63.93 63.93
21243302530 |‘HE —ghiiiarhe 18 =ikphitikrpr] SEAR0ES | #hSRlE T2 fhople L2k (B)[ 100 | 91.75 191.75 63.92 63.92
21281700103 | ‘B =gt B S =gt iAoy A0 ES | SRR fEaREL R (B)| 9756 | 94 191.56 63.85 63.85
21281901417 |'HE =gtk 18 =ikphitiArpr] SEIAR0ES | #HSRlE T2 fhopla L2k (B)| 99.7 | 91.75 191.45 63.82 63.82
21281901130 |‘HE —leghiitiArpr 18 =ikphiiiApr] SEIAREES | #hSRlr L2 fhople L2k (B)| 86.13 | 105.3 191.38 63.79 63.79
21281703404 | B =itk B8 =gtk ron Ao Es | SRR SRR LRk (B)] 106.14 [ 85 191.14 63.71 63.71
21281900724 |'HE —lkghiiiArpr 18 =ikphiiikrpr] SEIAREES | #hSRlE T2 i oRl2a L2k (B)| 98.86 | 92.25 191.11 63.70 63.70
21281704929 |‘HE —lkghiiiArhr B8 =ikphiiiArpor] SEIAREES | #hSRlE T2 i oRl2e L2k (B) [ 105.18 | 85.75 190.93 63.64 63.64
21281704229 |'HE —kghiiiArpr 58 =ikphitikrpor] SEIAREES | #hSRlE T2 ARl L2k (B) [ 104.59 | 86.25 190.84 63.61 63.61
21281901024 | ‘B =ikl BB =ikgh ik ron kD ES | SRR fESREL L (B)] 10064 [ 90 190.64 63.55 63.55
21281701621 | ‘B =gtk B8 =gk ron Ao Es | SRR SRR L 2L (B)] 100.37 [ 90 190.37 63.46 63.46
21243300428 |‘H B =gtk B8 =gtk SEIRIEES | 4 SRlE Tk i aRlE L2k (B)| 9329 | 97 190.29 63.43 63.43
21281902714 | ‘H.E =itk BB =gk ron kD ES | SRR fESREL R (B)]| 94.29 | 96 190.29 63.43 63.43
21281704405 | B =ik e B8 = ikah iy Ao Es | SRR fESREL L (B)] 99.72 | 90.5 190.22 63.41 63.41
21281706520 | ‘B =itk e BB =gty Ao E5 | SRR fESRELR2E (B)] 10241 | 87.5 189.91 63.30 63.30
21281703216 | ‘BH.E =itk B8 =ik itk ron Ao Es | SRR SRR LR (B)]| 1043 | 85 189.3 63.10 63.10
21281700717 |'HE =gtk 58 =ikphiiikrpr] SEIAREES | #hSRlr T2 fhopl2a L2k (B)| 89.54 | 99.75 189.29 63.10 63.10
21243300719 |‘HE =gtk 18 =ikphiiikrpor] SEIAR0ES | #hSRlE T2 fhople L2k (B)| 91.93 | 97.25 189.18 63.06 63.06
21281706030 |‘H B =gtk 58 =ikphiiiirhr] SEADES | 4 SRE T2k jEaRlELH2 (B)| 93.61 | 955 189.11 63.04 63.04
21281702904 |‘H 8 =gt 58 =ikphiiikrpor] SEIAREES | #hSRlE T2 i oRl2e L2k (B) [ 103.71 | 85.25 188.96 62.99 62.99
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21243302716 |‘HB —egiitikrus 1S =gty SEUAIDES | 4 SRE TR kEARELH2E (B)| 90.42 | 985 188.92 62.97 62.97
21281900925 |‘H B =gtk B8 =gtk SEIRI0ES | 4 SRlE T2k i aRlE L2k (B)| 96.79 | 92 188.79 62.93 62.93
21281901820 |‘H B —lkghiitiArhu.e B8 =iepiitiArhor] SEIA0ES | 4 SRlE L2k i oRlEL 2k (B)| 88.7 | 100 188.7 62.90 62.90
21281701221 |‘HE =ik 18 =gty SEAIEES | 4 SRE T2k joRlE L2k (B)| 80.88 | 107.8 188.63 62.88 62.88
21281704306 |‘H S =gk B8 =ikphiiikrpr] SEIAREES | #hSRlE T2 fhoRle L2k (B)| 92.67 | 95.25 187.92 62.64 62.64
21281901405 |‘HE =gtk /18 =ikphiiiArpr] SEAR0ES | #hSRlE T2 fhople L2k (B)| 96.13 | 91.75 187.88 62.63 62.63
21281904229 |‘HE =gk 18 =ikphitiArpr] SEIAREES | #hSRlE T2 i oRlE L2k (B)| 97.91 | 89.75 187.66 62.55 62.55
21281701811 |‘HE —kphtiirues BB =gty SiAki0#ES | doRlridik MaplgLidk (B)| 954 92 187.4 62.47 62.47
21243300413 | ‘BB —igiitiarhus 1S =phiiiirhr] SEAIEES | 4 SRE Tk jEaRlE L2 (B) | 107.64 | 79.5 187.14 62.38 62.38
21281900403 |‘HE =gk 58 =ikphiiiArpr] SEIAREES | #hSRlE T2 fhople L2k (B)| 95.75 | 91.25 187 62.33 62.33
21281705827 |'HE —leghiiiArpr 8 ZikphiiiArpor] SEIARCES | #hSRlE T2 ARl L2k (B)| 99.22 | 87.75 186.97 62.32 62.32
21281703503 |‘HE =gt 58 =ikphiiiArpor] SEIAREES | #hSRlE T2 i oRl2e L2k (B)| 97.32 | 89.25 186.57 62.19 62.19
21281902921 |‘HE —leghiiiArpur 18 =ikphiiiArpr] SEIAREES | #hSRlE T2 i oRlE L2k (B)| 96.79 | 89.75 186.54 62.18 62.18
21281706530 |‘H S —lghiiiArhr /18 =ikphiiiArpor] SEAREES | #hSRlE T2 fhople L2k (B)| 95.72 | 90.75 186.47 62.16 62.16
21281704902 | ‘H.E =itk e BB =gk ron Ao Es | SRR SRR LRk (B)| 88.43 | 98 186.43 62.14 62.14
21281903521 |‘HE =gtk 18 =ikphiiiArpor] SEIAREES | #hSRlE T2 i oRle L2k (B)| 8857 | 97.75 186.32 62.11 62.11
21281702016 |‘H S =gt /18 =ikphiiikrpr] SEAREES | #hSRlE T2 i opl2e L2k (B)| 91.05 | 95.25 186.3 62.10 62.10
21281706206 |‘H 5 =gtk /18 =ikphiiiArpr] SEIAR0ES | #hSRlr T2 fhople L2k (B)| 97.8 | 88.25 186.05 62.02 62.02
21243302520 |‘HE —eghiiiarhs 1S = iphiiiihor] SEAIEES | 4 SRE T2k pEaRlE L2k (B)| 83.15 | 102.8 185.9 61.97 61.97
21281901214 | ‘BB =itk B8 =gtk SEIR0ES | 4 SRlE L2k i oRlEL 2k (B)| 84.83 | 101 185.83 61.94 61.94
21281702501 |‘HE =gtttk /18 =ikphiiikrpr] SEIAR0ES | #hSRlr T2 fhople L2k (B)| 93.27 | 92.25 185.52 61.84 61.84
21281900805 |‘H & —kghiitiArhues B8 =ipiiiarbor SEIARICES | 4 SRlE T2k i aRlE L2k (B)| 9569 | 89 184.69 61.56 61.56
21281703904 |‘H 8 —kghiiiArpr /18 =ikphiiiArpor] SEIAREES | #hSRlE T2 i oRl2E L2k (B)| 93.91 | 90.25 184.16 61.39 61.39
21281706624 |‘H 5 —lkgiiiArpe 18 ZikphitiArpor] SEIAR0ES | #hSRlE T i oRlE L2k (B)| 87.7 | 96.25 183.95 61.32 61.32
21281701019 | ‘B 5 =ikt B8 =gk ron Ao Es | SRR fEaReE LR (B)]| 97.74 | 86 183.74 61.25 61.25
21281901919 |‘H B =gtk B8 =gtk SEUAICES | #ESRE 2k pEoRlELH2 (B)| 92.17 | 915 183.67 61.22 61.22
21243301420 |‘HB =ik 58 Zpiiitiarbor] SER0ES | 4 SRlE T2k i aRlEL 2k (B)| 83.29 | 100 183.29 61.10 61.10
21243301920 |‘HE =gtk 18 =ikphiiiArpr] SEIAR0ES | #hSRlr T2 fhoRle L2k (B)| 86.76 | 96.25 183.01 61.00 61.00
21243301302 |‘HE =gtk 58 =ikpiitikrpr] SEIAR0ES | #hSRlr T2k i aple L2k (B)| 8375 | 94 182.75 60.92 60.92
21281903730 |‘H B =gtk B8 =iphiiiirhr] SEAIEES | 4 SRE T2k jEoRlE L2 (B)| 9856 | 83.5 182.06 60.69 60.69
21281706102 |2 =iy b B =wmiiiiiA ] SiiAki0Es | Haplrtik okt (B)| 101 81 182 60.67 60.67
21281900115 | ‘HE =gtk BB =gk ron Ao Es | SRR SRR LR (B)] 9597 | 85 180.97 60.32 60.32
21281701022 | ‘B =gtk e B8 =gtk ron Ao Es | SRR i aReE LRk (B)]| 9767 | 83 180.67 60.22 60.22
21243302019 |‘HE =gk 18 =ikphitikrpor] SEAR0ES | #hSRlr T2 i opl2e L2k (B)| 93.78 | 86.75 180.53 60.18 60.18
21281902318 |‘H B~ B8 =ikphiiiirbr] SEAIDES | 4 SRE T2k jEoRELH2 (B)| 99.95 | 80.5 180.45 60.15 60.15
21281705614 |‘H B =gtk B8 =gty SEUAIEES | 4 SRE T2k kEaRlE L2 (B)| 99.84 | 80.5 180.34 60.11 60.11
21281705809 |'H & —leghiiiArpr /8 =ikphiiiApr] SEIARCHES | 4 SRlE L2 i opl2e L2k (B)| 93.55 | 86.75 180.3 60.10 60.10
21281901402 |'HE —lghiiiArpr 18 =ikphiiiArpr] SEIAR0ES | #hSRlr T2 fhopl2e L2k (B)| 8354 | 96.75 180.29 60.10 60.10
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21281700923 |‘H B =g 158 = ikphiiiirhr] SEUAIEES | 4 SRE TR jEAREL 2 (B)| 80.21 | 995 179.71 59.90 59.90
21243301628 |‘H B =ik B8 =gk SEIRI0ES | 4 SRlE T2k i aRlE L2k (B)| 92565 | 87 179.55 59.85 59.85
21281706420 |‘HE =gtk 58 =ikphitiArpr] SEAR0ES | #hSRlr T2k fhople L2k (B)| 97.64 | 80.25 177.89 59.30 59.30
21281901128 |‘HE —lkghiitiArpr 18 =ikphiiiArpr] SEIAR0ES | #hSRlE T2 fhopl2e L2k (B)| 96.62 | 80.75 177.37 59.12 59.12
21243303010 |‘HE =gtk /18 =ikphiiikrpr] SEIAREES | #hSRlr T2 fhopl2e L2k (B) | 104.27 | 72.75 177.02 59.01 59.01
21281703824 | ‘H.E =itk e BB = ikgh ik ron AIDES | SRR fEaReE LR (B)] 85.84 | 91 176.84 58.95 58.95
21243302723 | BB =i i B =gtk dr) R0 #5 | #HaRler il Rtk (B)| 94.8 82 176.8 58.93 58.93
21281702723 |'HE =g iArhr 18 =ikphitiArpor] SEIAREES | #hSRlE T2 i oRlE L2k (B)| 95.38 | 80.75 176.13 58.71 58.71
21281703422 | ‘H.E =gk B S =ik ik ron A0 ES | SRR fEAREL R (B)]| 82.07 | 94 176.07 58.69 58.69
21281704308 |‘H B =gtk B8 =ikphiiiirhr] SEAIEES | 4 SRE T2k pEoRlELH2 (B)| 93.98 | 81.5 175.48 58.49 58.49
21281701921 |‘HB —leghiitiarhe B8 =ipiiitiarbor] SEIR0ES | 4 SRlE L2k i aRlE L2k (B)| 68.35 | 107 175.35 58.45 58.45
21243300716 |HE =gk 58 =ikphitikrpor] SEIAR0ES | #hSRlr T2 fhople L2k (B)| 709 | 104.3 175.15 58.38 58.38
21281700806 |‘H B gtk B8 = iephiiiibr] SEAICES | 4 SRE 2k jEoRlEL 2 (B)| 79.43 | 955 174.93 58.31 58.31
21281904427 |‘HB —Ikgii ks B8 = ikphiiiirhy SEUAIDES | 4 SRE TR jEARE L2 (B)| 86.29 | 88.5 174.79 58.26 58.26
21281904221 |‘HE —giiiikrhue B8 =gty SEAIEES | 4 SRE Tk jEARE L2 (B)| 82.26 | 925 174.76 58.25 58.25
21281706505 |‘H B =gk B8 = ikphiiiirhr] SEADES | 4 SRE T2k pEoRlE L2k (B)| 103.96 | 70.5 174.46 58.15 58.15
21281702711 |‘HE —kghiiiArhr 18 =ikphiiikrpr] SEIAR0ES | #hSRlE T2 i oRl2e L2k (B)| 89.03 | 84.75 173.78 57.93 57.93
21281901022 |‘H B =gtk B8 =ikphiiiirhry] SEACES | 4 SRE 32k pEoRlE L2k (B)| 79.82 | 935 173.32 57.77 57.77
21243300205 |‘HE =gk 58 =ikphitikrpr] SEAR0ES | #hSRlE T2 i ople L2k (B)| 86.03 | 87.25 173.28 57.76 57.76
21243302325 |'HE —giiiAkpe 58 Zikphitikrpr] SEIAR0ES | #hSRlE T i oRle L2k (B)| 86.53 | 86.75 173.28 57.76 57.76
21243301605 | ‘HE =gl B8 =gtk ron Ao E s | SRR fESREL L (B)] 92.04 | 80 172.04 57.35 57.35
21281706719 |‘HE —lghiiiArhr 18 =ikphiiiArpr] SEIAEES | #hSRlE T2 i oRl2e L2k (B) [ 10059 | 71.25 171.84 57.28 57.28
21243300214 |5 =R i 8 =gtk ) SiRi0#5 | #HaPler ik iaflL ik (B)| 925 79 171.5 57.17 57.17
21243302910 |‘HB =gtk 158 =gty SEAIEES | 4 SRE T2k pEaRlE L2k (B)| 83.92 | 875 171.42 57.14 57.14
21281900825 |‘H & —lghiiiArues B8 =ikphiitiarbor] SEIREES | #HSRlE T2k fEoRlE L2k (B) | 10442 | 67 171.42 57.14 57.14
21281903710 |‘HE =gttt 518 =ikphiiiArpor] SEIAR0ES | #hSRlr L2 fhople L2k (B)| 78.16 | 93.25 171.41 57.14 57.14
21281900417 | ‘H.E =gtk BB =gtk ron Ao Es | SRR fEaReE L2k (B)] 81.82 | 89 170.82 56.94 56.94
21281702521 | ‘B =itk e B8 =ik ik oy Ao Es | SRR SR EL R (B)]| 75.72 | 95 170.72 56.91 56.91
21281904113 |'HE —leghiiiArpr 18 =ikphitiArpr] SEIARCES | #hSRlE T2 fhople L2k (B)| 911 | 79.25 170.35 56.78 56.78
21281704107 | ‘BH.E =itk B8 =gty Ao E5 | SR faReE L2k (B)] 79.26 | 91 170.26 56.75 56.75
21281903125 |‘H B =gtk B8 =ikphiiiirbr] SEACES | #ESRE 32k pEoRlELH2 (B)| 79.54 | 90.5 170.04 56.68 56.68
21281700205 | ‘B =gtk e B8 =gk ron Ao Es | SRR fEaReE LR (B)]| 87.96 | 82 169.96 56.65 56.65
21281900315 |‘HE —leghiitiArpr /18 =ikphitiArpr] SEIAR0ES | #hSRlr T2 fhople L2k (B)| 87.8 | 81.75 169.55 56.52 56.52
21243302917 | ‘B =gk B8 =gtk ron Ao Es | SRR i aReE LR (B)] 89.16 | 80 169.16 56.39 56.39
21281904515 |‘HE =ik 58 =ikphiiikrpor] SEIAR0ES | #hSRlE T2 i opl2e L2k (B)| 89.88 | 79.25 169.13 56.38 56.38
21281700808 | H & =kmhiiArcs B 5 = ikemiliiiA .y SAICES | 4t aRlE LRk faRleL 42 (B)| 79.01 90 169.01 56.34 56.34
21281701305 | ‘B =gtk B8 =gtk oy Ao Es | SRR i aReE L2k (B)]| 8348 | 85 168.48 56.16 56.16
21281700123 | ‘BB =gtk 58 =gty SEAIDES | 4 SRE T2k pEaRlE L2 (B)| 82.63 | 85.5 168.13 56.04 56.04
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21281903529 |‘HE =gt 18 =ikphiiiArpr] SEIAREES | #hSRlE T2 i oRl2E L2k (B)| 88.96 | 78.25 167.21 55.74 55.74
21243302524 |‘HE =gk 58 Zikphitikrpr] SEIAR0ES | #hSRlE T i oRlE L2k (B)| 84.95 | 82.25 167.2 55.73 55.73
21281703715 | ‘B & =lemiiR ey i B =wghitiArhor] 2uAi0#5 | daRlE Rk MaRleE Rk (B)| 72.1 95 167.1 55.70 55.70
21281702627 | H.E =itk BB =ik ik ron Ao ES | SRR fEaReE LRk (B)] 85.08 | 82 167.08 55.69 55.69
21281705625 |‘HE =gtk 18 =ikphiiiArpor] SEIAR0ES | #hSRlE T2 i ople L2k (B)| 95.03 | 71.75 166.78 55.59 55.59
21281901814 |‘HE —lkghiiiArp.ry B8 =ikphiiiArpr] SEIARCES | #HSRlr T2 fhople L2k (B)| 84.97 | 81.75 166.72 55.57 55.57
21281900230 |‘HE =gt 18 =ikphitiArpor] SEAR0ES | #hSRlE T2 fhople L2k (B)| 89.15 | 77.25 166.4 55.47 55.47
21281903827 |‘H B~k Al B8 = iephiiiabr SEIAICES | 4 SRE T2k pEoRlE L2 (B)| 83.76 | 825 166.26 55.42 55.42
21243301505 |‘HE =gk 58 =ikphiiikrpr] SEAR0ES | #hSRlr T2 fhople L2k (B)| 6791 | 97.75 165.66 55.22 55.22
21281701429 |‘HE =gtk 58 =ikphitiArpr] SEIAR0ES | #hSRlr T2 fhople L2k (B)| 73.78 | 91.75 165.53 55.18 55.18
21243300925 |‘HE =gk 58 =ikphitikrpr] SEIAR0ES | #hSRlE T i oRle L2k (B)| 8054 | 84.75 165.29 55.10 55.10
21281901010 | ‘BHE =gtk BB =gtk oy Ao Es | SR foaReE L2k (B)| 85.18 | 80 165.18 55.06 55.06
21281702229 |‘HE —lkgii ke B8 = ikphiiiirhr] SEAIEES | 4 SRE TR jEARlE L2 (B)| 109.43 | 55.5 164.93 54.98 54.98
21243302207 |'HE —eghiiiarbe 18 =ikphiiikrpor] SEAR0ES | #hSRlE T2 i oRle L2k (B)| 89.08 | 74.75 163.83 54.61 54.61
21243300517 |‘HE =gtk 58 =ikphitikrpor] SEAR0ES | #hSRlr T2 fhople L2k (B)| 84.92 | 78.75 163.67 54.56 54.56
21243301602 |'HE =gtk 18 =ikphiiikrpr] SEIAREES | #hSRlr T2 fhople L2k (B)| 94.3 | 69.25 163.55 54.52 54.52
21243300312 |‘HB —iegiitikrhus 1S =gty SEAIEES | 4 SRE T2k pEoRlE L2k (B)| 74.14 | 885 162.64 54.21 54.21
21281701117 | ‘BB —begiiiiiarhue 158 =ikpiiiiirbr] SEAIDES | 4 SRlE 32k phoRlaL 2k (B)| 81.86 | 80.5 162.36 54.12 54.12
21243302706 |HE =gk 58 =ikphiiikrpr] SEAR0ES | #hSRlr T2 fhople L2k (B)| 76.46 | 85.75 162.21 54.07 54.07
21281705822 |‘HE —lghiiiArpur B8 =ikphiiiArpor] SEIAREES | #hSRlE T2 i oRle L2k (B)| 82.36 | 79.75 162.11 54.04 54.04
21243302109 |‘HE =gtk 58 =ikphiiikrpr] SEIAR0ES | #hSRlr T2 fhopla L2k (B)| 87.47 | 74.25 161.72 53.91 53.91
21281702621 |‘HE =gtk 18 =ikphiiikrpr] SEAREES | #hSRlE T2 i ople L2k (B)| 80.14 | 81.25 161.39 53.80 53.80
21243302516 |‘H B —igiiikrus 58 =ikphiiiirhr] SEAIEES | 4 SRE Tk jEoRlE L2 (B)| 79.64 | 81.5 161.14 53.71 53.71
21281902915 | B & =iy i B =gtk ) R0 #5 | #Hakleriik HdaplLH2k (B)| 81.1 80 161.1 53.70 53.70
21281901717 | BH.E =gtk B8 =gtk ron Ao E s | SRR i aRleE L2k (B)| 8875 | 72 160.75 53.58 53.58
21243301215 |‘HE =gtk /18 =ikphiiikrpor] SEAR0ES | #hSRlr T2k i aple L2k (B)| 80.02 | 80.25 160.27 53.42 53.42
21281700810 |‘H S —leghiitiArpr 58 =ikphiiiArpr] SEIARCES | #hSRlr T2 fhople L2k (B)| 705 | 7475 145.25 48.42 5 |53.42
21281703329 |‘H B =gkl B8 =gk SEIRI0ES | 4 SRlE T2k i aRlE L2k (B)| 70.84 | 89 159.84 53.28 53.28
21281901519 |‘HE —leghiitiArpr 18 =ikphiiiArpr] SEIAREES | #hSRlE T2 fhopla L2k (B)| 74.33 | 84.25 158.58 52.86 52.86
21281704510 |‘HE —leghiiiArpr 18 =ikphiiiArpor] SEIAR0ES | #hSRlE T2 fhopl2a L2k (B)| 90.79 | 67.75 158.54 52.85 52.85
21281903707 | ‘H.E =gtk BB =gtk ron Ao Es | SRR SRR L2k (B)| 8351 | 75 158.51 52.84 52.84
21243302130 |‘HB =gtk B8 =gtk SEIR0ES | 4 SRlE T2k it apla L2k (B)| 76.12 | 82 158.12 52.71 52.71
21281901730 |‘HE —leghiiiArpr /18 =ikphiiiArpr] SEIAREES | #hSRlr T2 fhople L2k (B)| 721 | 85.75 157.85 52.62 52.62
21281701522 |‘HE —lkgiitiarus 18 =ikphiiiirhy] SEUAICES | 4 SRE T2k pEaRlE L2k (B)| 738 | 835 157.3 52.43 52.43
21281902719 |‘HB =gt B8 =ikphiiiirhr] SEAICES | 4 SRE 2k ki aRlELH2 (B)| 97.36 | 59.5 156.86 52.29 52.29
21243300417 | ‘BB =gtk 18 =gtk SEAIEES | 4 SRE T2k joRlELH2k (B)| 70.19 | 86.5 156.69 52.23 52.23
21281705929 |‘HE —lghiiiArpr 58 ZikphitiArpr] SEIAREES | #hSRlE T2 i oRle L2k (B)| 81.63 | 74.25 155.88 51.96 51.96
21281903022 |‘H B =gtk B8 =gtk SEAICES | 4 SRE T2k pEaRlE L2k (B)| 73.09 | 825 155.59 51.86 51.86
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21243303022 |‘HE =gk 18 =ikphitikrpor] SEIAREES | #hSRlE T2 i oRle L2k (B)| 84.12 | 70.75 154.87 51.62 51.62
21243300119 |58 =i i 8 =gtk dr) R0 #5 | #Haklrfiilk HaplLH2k (B)| 80.7 74 154.7 51.57 51.57
21281702322 |'HE —giiiArpe 18 =ikphitikrpor] SEIAREES | #hSRlE T2 i oRle L2k (B)| 92.35 | 62.25 154.6 51.53 51.53
21281704203 |‘H B =gtk B8 =gtk SEIRI0ES | 4 SRlE T2k i aRlE L2k (B)| 91.12 | 63 154.12 51.37 51.37
21281702427 |'HE =gtk 18 =ikphitiArpor] SEAR0ES | #hSRlE T2 i oRle L2k (B)| 82.65 | 70.75 153.4 51.13 51.13
21281902210 |‘H B =gtk 58 =gtk SEAICES | 4 SRE T2k pEoRlELH2 (B)| 77.89 | 745 152.39 50.80 50.80
21281904311 |‘HE —leghiiiArpr 18 =ikphiiikpr] SEIAREES | #hSRlr T2 fhopl2e L2k (B)| 73.05 | 78.75 151.8 50.60 50.60
21281901918 |‘H S —leghiiiArp.r 58 =ikphiiihpor] SEIARCES | #hSRlE T2 i ople L2k (B)| 7043 | 81.25 151.68 50.56 50.56
21281902801 |‘H S —leghiitiArp.r 58 =ikphiiiArpr] SEIACES | #hSRlr T2 fhople L2k (B)| 68.3 | 81.75 150.05 50.02 50.02
21281704022 |‘HE —lghiiiArpe 18 =ikphiiiApor] SEIAR0ES | #hSRlr T2 fhople L2k (B)| 77.07 | 72.75 149.82 49.94 49.94
21281903712 |‘HE =gtk 18 ZikphitiArpr] SEIAR0ES | #hSRlr T2k i ople L2k (B)| 8569 | 64 149.69 49.90 49.90
21281901329 |‘HE —lghiitiArhr 18 =ikphitiArpr] SEIAR0ES | #hSRlr T2 i opl2e L2k (B)| 63.35 | 86.25 149.6 49.87 49.87
21281703524 | B E =it e i B =gt iAoy, A0 #5 | aRleE Rk MaRlee Lk (B)| 77 72.5 1495 49.83 49.83
21243302713 |‘HE —giiiAape 18 =ikphitikrpor] SEIAR0ES | #hSRlE T2 i oRle L2k (B)| 82.76 | 66.25 149.01 49.67 49.67
21281706310 | & =Ry i B =gtk ) Sitkie#5 | #HaPlerfii 2k mapleLHk (B)| 73.3 75 148.3 49.43 49.43
21281701608 |‘H B~k B8 =ipiiiiirbr] SEAIDES | 4 SRE T2k jEoRlE L2 (B)| 82.89 | 64.5 147.39 49.13 49.13
21281902529 |‘HE =gtk 18 =ikphiiiArpr] SEAREES | #hSRlE T2 i ople L2k (B)| 81.07 | 66.25 147.32 49.11 49.11
21281705907 |‘H B —beghiiiarbue B8 =gtk SEIRI0ES | 4 SRlE 32k i apla L2k (B)| 7958 | 67 146.58 48.86 48.86
21243300224 |'HE —kgiiiarpe 18 Zikphitikrpor] SEIAR0ES | #hSRlE T2 i oRlE L2k (B)| 80.84 | 64.75 145.59 4853 4853
21281901113 |‘H S —leghiitiArhr 18 =ikphiiiArpr] SEAREES | #hSRlr L2 fhople L2k (B)| 75.14 | 70.25 145.39 48.46 48 .46
21281702717 |‘HB =gtk 158 = ikphiiiirhry] SEUACES | 4 SRE 2k jEoRlE L2k (B)| 67.79 | 775 145.29 48.43 48 .43
21281702123 | ‘BB —lgiitikrhue B8 =gty SEAICES | 4 SRE Tk jEaRlE L2 (B)| 79.32 | 655 144.82 48.27 48.27
21281700611 |‘H B —bghiitiarhue B8 =piiiiiabor] SEIRI0ES | 4 SRlE 32k i opla L2k (B)| 7462 | 70 144.62 48.21 4821
21281900605 |‘H & =gtk B8 =gk SEIRI0ES | 4 SRlE L2k i aRlE L2k (B)| 6829 | 75 143.29 47.76 47.76
21281901623 |‘H B =gtk B8 =ikphiiiirbr] SEUAIDES | 4 SRE T2k pEaRlEL 2k (B)| 70.36 | 725 142.86 47.62 47.62
21243302727 |‘HE =g 18 =ikphitikrpor] SEIAREES | #hSRlE T i oRle L2k (B)| 72.32 | 68.25 140.57 46.86 46.86
21281901802 | B & =gy i B =gtk ) R0 #5 | #Haklrii 2k HaplLH2k (B)| 67.1 69 136.1 45.37 45.37
21281903216 |‘H B =gk B8 =ikphiiiirhr] SEACES | 4 SRE 2k pEoRlE L2k (B)| 72.97 | 615 134.47 44.82 44.82
21281705602 |‘H B =gtk 58 =gty SEAIDES | 4 SRE T2k kEoRlELH2 (B)| 53.09 | 80.5 133.59 4453 4453
21281700324 |'HE —lghiiiArpr 18 =ikphiiiArpor] SEIAREES | #hSRlE T2 fhoRl2E L2k (B)| 49.99 | 80.75 130.74 43.58 43.58
21243301209 |‘HE =gk 18 =ikphiiikrpr] SEIAR0ES | #hSRlE T2 fhople L2k (B)| 72.49 | 54.75 127.24 4241 42 .41
21281902425 |‘H B =itk B8 =gtk SEIRI0ES | 4 SRlE T2k i aRlE L2k (B)| 61.23 | 66 127.23 4241 42 .41
21281701219 |‘HB —lghiiiarhul B8 =gtk SEIRI0ES | 4 SRlE T2k i aRlE L2k (B)| 90.02 | 36 126.02 42.01 42.01
21281902009 |‘H S =gt /18 =ikphitiArpr] SEAR0ES | #hSRlE T2 i ople L2k (B)| 60.82 | 64.75 125.57 41.86 41.86
21281703322 |‘HE =gt 18 =ikphitiArpor] SEIAR0ES | #hSRlE T2 i oRl2a L2k (B)| 58.26 | 66.75 125.01 41.67 41.67
21281903330 |‘H B =gtk B8 =gtk SEUAIDES | 4 SRE 32k poRlEL 2 (B)| 68.35 | 52.5 120.85 40.28 40.28
21281702209 |‘HE —lgiiiArhr 18 =ikphiiikrpr] SEIAR0ES | #hSRlE T2 i ople L2k (B)| 89.84 | 25.75 115.59 38.53 38.53
21281903011 |‘HE —leghiitiArpr /18 =ikphiiiArpr] SEIAREES | #hSRlr L2 fhopl2e L2k (B)| 6551 | 49.75 115.26 38.42 38.42
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21243303219 | B.E —WemhiiiR e i B = ikahiiarhon 2EAieES | SRR jEaRleE L2k (B)| 37.36 | 75.5 112.86 37.62 37.62
21243301425 |‘HB =gtk B8 =ghiiiirhor] SEAIDES | 4 SRE Tk pEaRlE L2k (B)| 67.82 | 135 81.32 27.11 27.11
21243302414 | B =lEghiia e BB =gtk ron Ao Es | SRR fESREL L (B) | 8% | % 0 0.00
21281701325 | ‘H.E =ik e BB =gtk oy Ao Es | SRR fESREL L (B)| 8% | % 0 0.00
21281703310 |‘H 5 =wemilfipioduc [ S =itk bon AaeE s | A aRla L i faRe e L2k (B) | 8% | B 0 0.00
21281705012 | ‘H.E =gtk e BB =gtk oy Ao E5 | SRR fESREL L (B)| 8% | % 0 0.00
21243300202 |‘H 5 =it B8 Semhiiti oy SAGeE s | A aRlea L i kAR E Lk (B) | B | BE 0 0.00
21243300217 |‘H 5 =it B8 Stk oy SAaeE s | A aRlea L i faRe e Lk (B) | 8% | B 0 0.00
21243300306 |‘H 5 =il [m S Stk bon AaeE s | A aRla L i faReE L2k (B) | 8% | BE 0 0.00
21243300327 |‘H 5 =it B8 Stk bon SAaeE s | A aRlea L i kAR E Lk (B) | B | BE 0 0.00
21243300503 |‘H 5 =it [m S Stk bon AaeE s | A aRla L i faReE Lk (B) | 8% | B 0 0.00
21243300705 |‘H 5 =it [m S Stk bon SAaeE s | A aRlea L i kAR e Lk (B) | 8% | B 0 0.00
21243300713 |‘H 5 =it [ S Stk bon AaeE s | A aRla L i fEaReE Lk (B) | 8% | B 0 0.00
21243300920 |‘H 5 =it B8 Stk oy SAaeE s | A aRlea L i kAR e Lk (B) | B | B 0 0.00
21243301008 |‘H 5 =it [m S Stk bon e E s | A aRlea L i fEaReE Lk (B) | 8% | B 0 0.00
21243301017 | ‘BH.E =gk BB =g iiiaroy Ao Es | SRR RSB EL L (B)| 8% | % 0 0.00
21243301102 |‘H 5 =it B8 Stk bon SAaeE s | A aRlea L i kaReE Lk (B) | 8% | B 0 0.00
21243301315 | ‘B =gk BB =gty Ao Es | SRR fESREL L (B) | 8% | % 0 0.00
21243301330 |‘H 5 =it B8 Stk oy e E s | A aRlea L i kAR E Lk (B) | B | BE 0 0.00
21243301724 | H.E =gk BB =gty Ao Es | SRR fESREL L (B) | 8% | % 0 0.00
21243301814 | B =ik BB =gtk oy 2AiDES | SRR RESREL L (B) | 8% | % 0 0.00
21243301823 |‘H 5 =it [m S Stk bon e E S | A aRlea L i kAR E Lk (B) | B | B 0 0.00
21243302026 |‘H 5 =it B8 Siehiiti by SAGeE S | A aRlea L i kEARE LRk (B) | B | BE 0 0.00
21243302126 |‘H 5 =i B8 Simhiiti oy SAGeE S | A aRlea L i kAR E Lk (B) | B | BE 0 0.00
21243302202 |‘H 5 =it B8 Siemhiiibon SAeE s | A aRlea L i kAR E Lk (B) | B | BE 0 0.00
21243302214 |‘H 5 =il B8 Siemhiitibon SAeE s | A aRlea L i kAR E Rk (B) | B | BE 0 0.00
21243302416 |‘H 5 =it B8 Stk bon SAGeE s | A aRlea L i kAR E Lk (B) | B | BE 0 0.00
21243302505 |‘H 5 =it B8 Stk bon AaeE s | A aRlea L i kAR e Lk (B) | B | BE 0 0.00
21243302602 |‘H 5 =it B8 Stk oy SAaeE s | A aRlea L i kAR E Lk (B) | B | BE 0 0.00
21243302808 |‘H 5 =it [f S Stk bor AaeE s | A aRlea L i kAR e Lk (B) | B | BE 0 0.00
21243302905 |‘H 5 =it B8 Sk on AGeE s | A aRlea L i kAR E Lk (B) | B | BE 0 0.00
21243302920 |‘H 5 =it B8 Sikemhiiti by SAGeE S | A aRlea L i kAR E Lk (B) | B | BE 0 0.00
21281700202 |‘H 5 =it B8 Stk bon SAaeE s | A aRla L i kEaReE Lk (B) | 8% | B 0 0.00
21281700212 |‘H 5 =wemiliioduc [m S Stk bon Aae g s | A aRla L i faRe e Lk (B) | 8% | B 0 0.00
21281700215 | ‘B =ik e BB =gtk oy Ao Es | SRR fESREL L (B)| 8% | % 0 0.00
21281700322 |‘H 5 =it B8 Stk bon e E s | A aRla L i kEaReE Lk (B) | B | B 0 0.00
21281700328 |‘H 5 =il [m S Stk bon AeE s | A aRlea L i kAR e Lk (B) | B | BE 0 0.00
21281700428 |‘H 5 =il [m S Sk bon SAeE s | A aRla L i kAR e Lk (B) | 8% | B 0 0.00

12 5t, 320 5t




o . o | B IR GT £ix
o . N o WHE KA N ; B | 254 | B4 CHR ~ | BUK

ZiIREZIES FEII] WmE RN pan Frlg K3 g/ o | | vema) [ﬁ?’fsc]: mar ﬁ{éﬁ
21281700617 | H.E =gk e BB =gtk oy, Ao E5 | SRR RSB AL L (B)| 8% | % 0 0.00
21281700712 | ‘BH.E =ik e BB =gtk ron Ao E5 | SRR SR EL 2L (B)| 8% | % 0 0.00
21281700812 |‘H 5 =wemhlfiiicdues [m 5 =gtk bor e E s | A aRla L i faple e L2k (B) | 8% | B 0 0.00
21281701003 |‘H 5 =wemilfipioduc [m S =itk bon e s s | b aklea L i fhaple e Lk (B)| 8% | B 0 0.00
21281701209 |‘H 5 =it [m S Stk on e s s | A akla L i fhaplee Lk (B) | 8% | B 0 0.00
21281701408 | ‘H.E =ik e BB =gtk oy Ao E5 | SRR fESR AL L (B)| 8% | % 0 0.00
21281701430 | B =ik e BB =gtk oy Ao Es | SRR fESREL L (B)| 8% | % 0 0.00
21281701705 | ‘H.E =ik e BB =gtk oy Ao E5 | SRR fESREL L (B)| 8% | % 0 0.00
21281701809 |‘H 5 =wemhliiicdue [m S =itk bor AGeE s | i akla L i fhaplee Lk (B)| 8% | B 0 0.00
21281701813 | ‘B =ilkmhliiik e BB =gtk oy, 2AiDES | SRR fESREL L (B)| 8% | % 0 0.00
21281701825 | ‘H.E =gk e BB =gtk roy kD ES | SRR fESREL L (B)| 8% | % 0 0.00
21281701923 |‘H 5 =it [m S Stk bor e E s | A aRlea L i kAR e Lk (B) | B | B 0 0.00
21281702213 |‘H 5 =it [ S Stk bon e E s | A aRlea L i kAR e Lk (B) | B | B 0 0.00
21281702404 | H.E =gk e BB =gtk oy Ao Es | SRR fESREL L (B)| 8% | % 0 0.00
21281702518 | ‘H.E =itk e BB =gty kD ES | SRR fESREL L (B)| 8% | % 0 0.00
21281702714 | ‘H.E =ik BB =gtk oy Ao E5 | SRR RSB EL L (B)| 8% | % 0 0.00
21281702715 | ‘H.E =itk e BB =gtk oy Ao Es | SRR RSB EL L (B)| 8% | % 0 0.00
21281702801 |‘H 5 =wemhlftiicdue [m 5 =gtk bor e E s | A aRla L i fEaReE Lk (B) | 8% | B 0 0.00
21281702910 |‘H 5 =it [ S Stk bon e E s | A aRlea L i kAR e Lk (B) | 8% | B 0 0.00
21281703107 | H.E =itk e BB =gtk oy Ao Es | SRR SR AL L (B)| 8% | % 0 0.00
21281703110 | ‘B =gk BB =gtk oy Ao Es | SRR fESR AL L (B)| 8% | % 0 0.00
21281703420 |‘H 5 =it B8 Stk bon AaeE s | A aRlea L i kAR e Lk (B) | 8% | B 0 0.00
21281703908 |‘H 5 =it [m S Stk bon AeE s | A aRla L i kAR e Lk (B) | 8% | B 0 0.00
21281704027 | ‘H.E =ik e BB =gtk oy Ao Es | SRR fESREL L (B)| 8% | % 0 0.00
21281704028 |‘H 5 =il [ S Stk bon AaeE s | A aRlea L i kAR e Lk (B) | B | BE 0 0.00
21281704106 | H.E =Wk e BB =gtk oy Ao Es | SRR RSB AL L (B)| 8% | % 0 0.00
21281704119 | ‘B E =gk e BB =g iiiaroy Ao Es | SRR RSB EL L (B)| 8% | % 0 0.00
21281704617 | H.E =gk e BB =gtk oy Ao Es | SRR fSREL L (B)| 8% | % 0 0.00
21281704620 |‘H 5 =it B8 Sk oy SAaeE s | A aRlea L i kAR e Lk (B) | 8% | B 0 0.00
21281704704 | H.E =gk e BB =gtk oy Ao Es | SRR fESREL L (B)| 8% | % 0 0.00
21281704715 |‘H 5 =il [ S Stk on SAaeE s | A aRlea L i faReE Lk (B) | 8% | B 0 0.00
21281704907 | ‘H.E =itk e BB =gtk oy Ao E5 | SRR fESR AL L (B)| 8% | % 0 0.00
21281704925 | ‘H.E =ik e BB =gtk roy Ao Es | SRR fESREL L (B)| 8% | % 0 0.00
21281705025 | ‘H.E =gtk BB =gtk oy Ao Es | SRR fESREL L (B)| 8% | % 0 0.00
21281705202 |‘H 5 =it B8 Stk bon AaeE s | A aRlea L i kAR e Lk (B) | B | B 0 0.00
21281705406 | H.E =ik e BB =gtk oy Ao Es | SRR fESREL L (B)| 8% | % 0 0.00
21281705515 |‘H 5 =il [m S Stk bon AaeE s | A aRlea L i fEaReE Lk (B) | 8% | B 0 0.00
21281706013 |‘H 5 =it [m 5 Stk bon AaeE s | A aRla L i fape e Lk (B) | 8% | B 0 0.00
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21281706019 |‘H 5 =il [m S =itk on e E s | A aRla L i faple e L2k (B) | 8% | B 0 0.00
21281706510 | ‘B =gtk e BB =gtk oy Ao Es | SRR fESREL L (B)| 8% | % 0 0.00
21281706720 |‘H 5 =it [m S Stk bon SAaeE s | A aRlea L i kAR e Lk (B) | B | BE 0 0.00
21281706807 |‘H 5 = wemhlfiiicdues [f 5 =gtk bor e E s | A aRla L i faRle e Lk (B) | 8% | B 0 0.00
21281900225 |‘H 5 =it [f S Stk bon e E s | A aRlea L i kAR e Lk (B) | 8% | BE 0 0.00
21281900409 |‘H 5 =it [f S =itk bon e E s | A aRlea L i faple e Lk (B) | 8% | B 0 0.00
21281900420 |‘H 5 =wemhlfiiiodue [m S =gtk bon e E s | A aRlea L i faReE Lk (B) | 8% | B 0 0.00
21281900524 |‘H 5 =it [m S Stk bor e E s | A aRlea L i kAR e Lk (B) | B | B 0 0.00
21281900906 | ‘H 5 = wemhlfiiicue [f 5 =itk or e E s | A aRla L i faple e L2k (B) | 8% | B 0 0.00
21281900914 |‘H 5 =it [m 8 =itk bor e E s | A aRla L5 faReE L2k (B) | 8% | B 0 0.00
21281901012 |‘H 5 =wemhlfpioducs [f 5 =gtk bor e s s | A akla L i fhaplee L2k (B) | 8% | Bt 0 0.00
21281901204 |‘H 5 =wemhiftiioduc [ S =itk bor e E s | A aRla L i faReE Lk (B) | 8% | B 0 0.00
21281901212 |‘H 5 =wemhlfiioducs [ 5 =gtk bor Aae s s | A akla L i faple e Lk (B) | 8% | B 0 0.00
21281901525 | ‘H.E =gk e BB =gtk oy Ao E 5 | SRR SR EL L (B)| 8% | % 0 0.00
21281901927 |‘H 5 =il [ S Stk bor e E s | A aRla L5 faReE Lk (B) | 8% | BE 0 0.00
21281902609 |‘H 5 =it [m S Stk oy SAeE s | A aRlea L i kAR e Lk (B) | 8% | B 0 0.00
21281902804 |‘H 5 = wemhlftiicdues [f 5 =gtk bor e E s | A aRlea L i kAR E Lk (B) | 8% | B 0 0.00
21281902826 |‘H 5 =il [m S Stk bon AGeE S | A aRlea L i kAR E Lk (B) | B | BE 0 0.00
21281902917 |‘H 5 =wemilfiiioducs [m 8 Stk bor AeE s | A aRla L i faReE Lk (B) | 8% | B 0 0.00
21281903228 |‘H 5 =it [m S Stk bon AGeE S | A aRlea L i kAR E Lk (B) | B | BE 0 0.00
21281903329 |‘H 5 =il [m S Stk bon AGeE S | A aRlea L i kAR E LRk (B) | B | BE 0 0.00
21281903430 |‘H 5 =it [m S Stk bon AeE s | A aRla L i kAR e Lk (B) | 8% | BE 0 0.00
21281903604 |‘H 5 =it [f S =itk oy e E s | A aRlea L i fEaReE Lk (B) | 8% | B 0 0.00
21281903806 | ‘H 5 —wemhlfiiicucs [f 5 =gtk bor AGeE S | A aRla L i fEaReE Lk (B) | 8% | B 0 0.00
21281903808 | ‘H 5 —wemhlitiiccs [f 5 =gtk bor) AGeE S | A aRla L i kAR Lk (B) | 8% | B 0 0.00
21281903912 |‘H 5 =wemhlfiiicducs [ S Stk bor AGeE S | A aRlea L i kAR E Lk (B) | 8% | BE 0 0.00
21281904009 |‘H 5 =it [m 8 =itk on SAeE s | A aRla L i fEaReE Lk (B) | 8% | BE 0 0.00
21281904103 |‘H 5 =it [m S Stk bon e E s | A aRla L i faReE Lk (B) | 8% | B 0 0.00
21281904115 | ‘B =itk e BB =gtk oy Ao Es | SRR RSB EL L (B)| 8% | % 0 0.00
21281904317 | H.E =ik e BB =gtk oy Ao Es | SRR RSB EL L (B)| 8% | % 0 0.00
21281904523 |‘H 5 =it [m S Stk bon AGeE S | A aRlea L i kAR E Lk (B) | B | BE 0 0.00
21281904216 |HE =i 58 =gk spor] e i sl | #hSRlr L2 fhoplea L2k (B) [ 105.37 | 103.5 208.87 69.62 69.62
21281703312 |‘H B =gk B8 =gt shor] e ikiitl | 4k SRk 32k phopl2a L2k (B)| 104.61 | 99.5 204.11 68.04 68.04
21281901829 | ‘H.E — Wm0 [ B = kg i A on ki Tl | sh SR F R jEoReE L2k (B)] 109.83 | 89.25 199.08 66.36 66.36
21243301621 |‘HE =gk 58 =gtk shor] ek sl | #h SRkt L2k fhopl2e L2k (B)| 97.56 86 183.56 61.19 5 |66.19
21243302703 | ‘BB —ikgiii ik 58 =gt shor] e ikiitl | 4k SRk 32k phoRlE L2k (B)| 104.34 | 92,5 196.84 65.61 65.61
21281704702 | BLE kBRI A B S B EAR Tt AL AL | ARl LR Rl L 42E (B) [ 97.03 [ 91.25 188.28 62.76 62.76
21281900611 |‘H 8 =gtk 58 =gk rpor] e ih sl | #hSRlr L2 b oplee L2k (B)| 7493 | 111.3 186.18 62.06 62.06
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21281705622 | ‘F.E =W iR 0 [ B = kmh i A on UGk il | sh SR E R jhaRleE L2k (B)| 83.07 | 100.3 183.32 61.11 61.11
21281705104 | .5 =m0 i B = wkmb i hor) S ikiitl | sh SR F R HE phopleg L2k (B)| 87.21 | 92.75 179.96 59.99 59.99
21281903405 | ‘F.E — Wm0 i B = wkmh A on Sk iZitl | sh SRR jhoaRlep L2k (B)| 83.12 | 955 178.62 59.54 59.54
21281900410 | ‘F.E =W o [F B = wkmb i or) MG ikiitl | sh SR F LR jh oz L2k (B)| 776 | 99.75 177.35 59.12 59.12
21281704606 | F.E — Wm0 [F B = kmb i hon MG ikiitl | sh SR F LR phoRleg L2k (B)| 90.32 | 85.75 176.07 58.69 58.69
21243302022 | F.E =R BB = ikah A on Sk il | i SRR jEaRleE L2k (B)| 779 | 935 171.4 57.13 57.13
21243300104 | F.E =m0 i B = ikmb i rhon S e ik iirl | sh SR F LR jhoRlea L2k (B)| 75.68 | 88.25 163.93 54.64 54.64
21281904212 | ‘F.E =m0 BB =ik A bon Mkl | s SRR fhaRlea L2k (B)| 81.69 | 82 163.69 54.56 54.56
21281706501 | ‘.5 =itk i B = wkmh A or M ikiZitl | sb SRR HEE jhoaRleg L2k (B )| 88.16 | 75.5 163.66 54.55 54.55
21281706228 | ‘F.E — Wm0 [ B = kmh i A on Gk il | sh SR F R ki aRlee L2k (B)| 71.33 | 91.25 162.58 54.19 54.19
21281702609 | ‘.5 =Wt o i B = wkmh A b on MG ikiZirl | sh SRR jhoRlep L2k (B )| 83.81 | 78.5 162.31 54.10 54.10
21243301119 | ‘B.E =R i B = kg on MG ikigirl | s SR F R jhaRlea L2k (B )| 93.02 | 68.5 161.52 53.84 53.84
21243300128 | ‘.5~ 0 BB =ikl pA hon Mkl | s SRR fEaRleE L2 (B)| 67.82 | 90 157.82 52.61 52.61
21281704213 | F.E — Wm0 (i B —wkmb i on) MGk iirl | sh SR F LR ptopleg L2k (B)| 83.5 69 152.5 50.83 50.83
21281900130 | ‘.5 —WemhiiiR o i B = wkmh A b on MG ikiZitl | sh SRR jhaRleg L2k (B)| 78.15 | 66.5 144.65 48.22 48.22
21281705723 | ‘H.E =W 0 BB =k i A on Gk il | sh SR E R jhoReE L2k (B)| 56.64 | 72.75 129.39 43.13 43.13
21243300122 |F B =gk i 8 =gk ibon 9 feisiitl | #h SR F B 428 fhaple L (B) | 6% | 6% 0 0.00 0.00
21243300409 | ‘B 5 =Wkl ik b [ 5 =ik kit | dhapler it a2k (B)| vk | ik 0 0.00 0.00
21243300601 |F B —dEghiiik e i 8 =gk ibon 9 feisiirl | #h SR F B 428 fhople i (B)| 6% | 6% 0 0.00 0.00
21243301307 |H B =gk i 8 =gk ibon 9 feis it | #h SR F B 428 fhaple L (B) | B | 6% 0 0.00 0.00
21243301503 | FH B —Eghiiik e i 8 =gk ibon 9 feisiitl | #h SR F e 428 fhaple L (B) | B% | 6% 0 0.00 0.00
21243301622 | FH B =gk son 8 =gk ibon 9 feisiirl | #h SR F B 428 fhaple e (B) | 6% | 6% 0 0.00 0.00
21243302001 |F B —iEghiik o i 8 =gk ibon 9 feisiitl | #h SR F B 428 fhople L (B) | B% | 6% 0 0.00 0.00
21243302206 | ‘B =Wk b [ 8 =ik Ao kit | iRl a2k (B)| vk | Bk 0 0.00 0.00
21281700621 |F B —dEghiiikrbon i 8 = imhiipkibon 9 feisiirl | #hSRF e 428 fhople L (B) | 6% | 6% 0 0.00 0.00
21281701602 | F B —Mhiiik e i B =gk ibon 9 fe st | #h SR F e 428 fhople e (B) | B% | 6% 0 0.00 0.00
21281704310 |H B —Mghiiikbon i 8 =gk ihon 9 feisiitl | #h SR F e 428 fhaple e (B) | B% | 6% 0 0.00 0.00
21281705226 |H B —dEEhiiikron [F B =gk ibon 9 feisiitl | #hSRF e 428 fhaple i (B) | 6% | 6% 0 0.00 0.00
21281900215 |H B —iEhiiikrbn i 8 =gk ibon P feisiitl | #h SR F e 428 fhaple L (B)| 6% | 6% 0 0.00 0.00
21281900716 |F B —dEhiiikrbn i 8 =gk ibon 9 feisiitl | #hSRF e 428 fhople e (B) | B | 6% 0 0.00 0.00
21281903728 | H B —MhiiikrL i B =gk ibon 9 feis it | #h SR F B 428 fhaRle L (B) | 6% | 6% 0 0.00 0.00
21281904521 |FH B —iEghiiikrbn [F 8 =gk ihon P feisiirl | #h SR F e 428 fhaple L (B) | 6% | 6% 0 0.00 0.00
21281902922 | ‘H.E =R 0 BB =ik A oL Mk T2 | i SRR jE SRR L2 (B)] 96.67 | 112.8 209.42 69.81 69.81
21281705512 | ‘F.E =m0 i B = kmb i i on S eikiir2 | th SR F R jh ol L2k (B)] 106.79 | 99.25 206.04 68.68 63.68
21281900629 | .5 —Wemh iR 0 [ B = kmh i A s on ik r2 | th SR E R jEoReE L2k (B)] 106.14 | 99.75 205.89 68.63 68.63
21281900513 | ‘.5 =m0 BB =ik on M ikiZih2 | i SRR fhaRleE L HZk (B)] 10453 [ 101 205.53 68.51 68.51
21281903215 | ‘F.E — Wm0 [ B = kmh i iA on S ikiir2 | sh SR F LR jhaRlee L2k (B)] 107.28 | 96.25 203.53 67.84 67.84
21281702219 | ‘F.E =R 0 [FL B = kg on S ikigir2 | th SR F R jhaRlep L2k (B)| 96.81 | 103 199.81 66.60 66.60
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21281703613 | ‘F.E — Wm0 i B = kmh i hon S ikiit2 | th SR F R jh Rl L2k (B)| 112.66 | 84.75 197.41 65.80 65.80
21281703810 | ‘.5 — Wm0 i B = kmb i i on) S ikiit2 | th SR F R HE jhoaRleg L2k (B)] 107.13 | 89.25 196.38 65.46 65.46
21281901304 | .5 — Wm0 i B = km A on MG iki%it2 | it SRR jhaRlep L2k (B) | 101.82 | 91.5 193.32 64.44 64.44
21281902524 | ‘F.E =R 0 BB = kmh A o0 Mk T2 | i SRR jEaRleE L2 (B)| 97.85 | 93.5 191.35 63.78 63.78
21281901506 | ‘.5 — Wm0 [ B = kmb i hon S eikiit2 | th SR FRHE jhoRlee L2k (B)| 84.07 | 107.3 191.32 63.77 63.77
21243301225 | ‘F.E =R 0 i B = ikmh i ron Sk iir2 | sh SR E R jEaReE L2k (B)] 95.09 | 95.75 190.84 63.61 63.61
21281903422 | ‘F.E =R 0 BB = ka0 ki T2 | i SR E R jEaRleE L2k (B)| 87.24 | 99.5 186.74 62.25 62.25
21243300701 | ‘F.E =Wt (i B = ikm A on MG ikixit2 | i SR F R jhaRlep L2k (B) ] 100.13 | 86.5 186.63 62.21 62.21
21281703823 | ‘F.E — Wm0 BB = kmh A oL e ikiiih2 | i SRR fhaRlep L2k (B)| 86.32 | 85 171.32 57.11 5 162.11
21243300525 | ‘B.E =R BB =ik A on Sk 2 | i SRE R jE SRR L2 (B)] 100.98 | 84.5 185.48 61.83 61.83
21281901007 | ‘.5 =Wt o [FL B —wkmb A bon MsieikiZir2 | st SR AL HE fhapleg L2k (B)] 105.16 [ 80 185.16 61.72 61.72
21281700809 | ‘.5 — iR .0 [F B = wkm A bon MsieikiZir2 | i SRR HE fhaRleg L2k (B)] 100.08 [ 85 185.08 61.69 61.69
21281904203 | ‘H.E — Wm0 [ B = kg A o0 M ikiii 2 | i SR F R jhaRleE L2k (B) | 90.68 | 93.5 184.18 61.39 61.39
21243301202 | ‘F.E =m0 i B = kmh A ron Sk iir2 | sh SR F R ki aRlee L2k (B)| 90.87 | 93.25 184.12 61.37 61.37
21243301118 | ‘F.E — Wm0 i B = km i ron S ikiir2 | sh SR F LR jhoaRlee L2k (B)] 103.31 | 75.75 179.06 59.69 59.69
21281901702 | ‘F.E —WemhiiR 0 i B = wkmb A bon Msi e ikixir2 | i SRFRHE fhapleg L2k (B)| 96.13 | 81 177.13 59.04 59.04
21281703413 | ‘F.E — Wm0 i B = kmb i rbon S ikiir2 | sh SR F LR jhoaRlea L2k (B)| 90.92 | 85.75 176.67 58.89 58.89
21243301203 | ‘F.E =m0 i B = ikmh A on S ikiir2 | sh SR F R ki aRleE L2k (B)| 90.26 | 84.75 175.01 58.34 58.34
21281900806 | ‘1.5 — Wm0 [FL B = kg A b on MsieikiZit2 | i SR AR fhaRleg L2k (B)| 86.57 | 88 174.57 58.19 58.19
21281901322 | ‘H.E — Wm0 LB = kmh i A on UGk i r2 | sh SR F R ki aRlee L2k (B)| 85.25 | 88.25 173.5 57.83 57.83
21281702719 | ‘F.E =m0 BB = kg A hon Mse e ikiiir2 | i SRR fhaRlep L2k (B)| 91.44 | 82 173.44 57.81 57.81
21281901413 | ‘F.E — Wm0 i B = kmb i on S ikiit2 | sh SR F LR jhoaRlea L2k (B)| 101.71 | 71.25 172.96 57.65 57.65
21281901423 | ‘F.E —WemhiiiR 0 BB = ka0 ik 2 | i SRR jEaRleE L2k (B )| 83.93 | 88.5 172.43 57.48 57.48
21281700822 | ‘.5 — Wm0 LB = kmh i A s on Uik r2 | th SR F R fEoReE L2k (B)| 77.14 | 94.25 171.39 57.13 57.13
21281900725 | ‘F.E —Wemh iR 0 [ B = kmh i i hon S ikiir2 | sh SR F R jhoaRleg L2k (B )| 85.52 | 84.75 170.27 56.76 56.76
21281705915 | ‘F.E =m0 i B = kmh i A on S ikiir2 | sh SR F R phoaRlee L2k (B)| 82.49 | 85.75 168.24 56.08 56.08
21281901107 | ‘H.E — et o i B —kmb i i or) S eikiit2 | sh SR F R HE phopleg L2k (B)| 91.3 | 75.75 167.05 55.68 55.68
21281700518 | ‘.5 — Wm0 i B = kmb i hon S ikiir2 | th SR F R jhoRlea L2k (B)| 88.9 | 76.25 165.15 55.05 55.05
21281700918 | ‘.5 — Wm0 i B = kmh i on S ikiir2 | th SR F R jhoRlea L2k (B)| 90.81 | 74.25 165.06 55.02 55.02
21281701803 | ‘.5 — Wm0 [FL B —kmh A bon Mse e ikiZit2 | i SRR fhaRleg L2k (B)| 73.27 | 90 163.27 54.42 54.42
21281701511 | ‘F.E =Wl (i B = wkm A bon MsieikiZit2 | i SR LH fhapleg L2k (B)| 95.33 | 67 162.33 54.11 54.11
21281900802 | ‘.5 — Wm0 [ B = kg A b on M iki%it2 | it SRR jhoRleg L2k (B)| 86.75 | 74.5 161.25 53.75 53.75
21281901509 | ‘.5 — et do i B = kg A sbon Msieikiiir2 | i SRR fhapleg L2k (B)| 83.22 | 78 161.22 53.74 53.74
21243302813 | ‘F.E — Wm0 BB =k i A oL ki T2 | th SRR fE SRR L2k (B)| 76.46 | 84.75 161.21 53.74 53.74
21281706620 | ‘.5 —Wemh iR 0 [F B = kmb i on S eikiir2 | th SR F LR jhopleg L2k (B)| 75.43 | 85.75 161.18 53.73 53.73
21281704905 | ‘F.E — Wm0 [FL B = kg A bon Msi e ikiiir2 | i SRR fhaRleg L2k (B)| 72.97 | 88 160.97 53.66 53.66
21281701624 | F.E =W .0 [ B = kmb i iA on MG ikiir2 | th SR F R jhaRlee L2k (B)| 77.77 | 82.75 160.52 53.51 53.51
21281700530 | ‘.5 =Wt i B = wkmb A bon Msi e ikixir2 | i SRR jphapleg L2k (B)| 81.8 78 159.8 53.27 53.27
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21281701008 | ‘.5 — Wm0 i B —kmb i i on S ikiit2 | th SR F LR jhoRleg L2k (B)| 84.29 | 73.75 158.04 52.68 52.68
21281902725 | ‘H.E =W .0 BB = kmh i A s on Uik 2 | ib SR E R jEoReE L2k (B)| 84.06 | 73.75 157.81 52.60 52.60
21281706823 | ‘.5 — Wm0 BB = kmh A b on M ikiZir2 | i SRR jhaRlep L2k (B)| 8095 | 75 155.95 51.98 51.98
21281904124 | F.E =W .0 [ B = kmh i A on Sk i r2 | sb SR F R jhoaRlee L2k (B)| 75.7 | 80.25 155.95 51.98 51.98
21281704121 | ‘F.E =W i B =ik iAbon MsieikiZir2 | i SRR fhapleg L2k (B)| 7859 | 77 155.59 51.86 51.86
21243300824 | F.E —WemhiiAR 0 BB =ik A s on Mk 2 | i SRR jhaRleE L2k (B)| 85.36 | 70 155.36 51.79 51.79
21281901818 | ‘.5~ .0 BB = kmh A bon e ikiii 2 | i SRR fhaRlep L2k (B)| 85.21 | 70 155.21 51.74 51.74
21281902111 | ‘H.E — Wm0 i B —kmb i on S eikiir2 | sh SRR H ph g L2k (B)| 711 | 82.75 153.85 51.28 51.28
21281702413 | ‘H.E =W 0 i B = kg A on M ikigit2 | s SR F R jhoRleg L2k (B)| 75.78 | 76.5 152.28 50.76 50.76
21281704103 | ‘H.E =m0 i B = kmb i on S ikiir2 | th SR F LR jhopleg L2k (B)| 80.48 | 71.75 152.23 50.74 50.74
21281701315 | ‘F.E — Wm0 i B = kmb i on S ikiit2 | sh SR F L H k- opleg L2k (B)| 65.22 | 86.75 151.97 50.66 50.66
21281901412 | ‘F.E =Wl [F B = kg A bon MaieikiZir2 | i SRR fhaRleg L2k (B)| 76.92 | 75 151.92 50.64 50.64
21243300817 | ‘F.E — Wm0 i B = kmh i i on S eikiit2 | sh SR F R jhaRlee L2k (B)]| 69.9 | 81.25 151.15 50.38 50.38
21281701827 | ‘F.E —WemhiiiiR 0 BB = kg A bon M eikiZit2 | i SRR fhaRlep L2k (B)]| 9494 | 56 150.94 50.31 50.31
21281704530 | ‘F.E =m0 BB = kg A bon MsieikiZir2 | it SRR fhapleg L2k (B)| 85.77 | 65 150.77 50.26 50.26
21243301412 | B.E =W BB = ikmh A on S ikigir2 | i SR F R jhaRlep L2k (B)| 7454 | 755 150.04 50.01 50.01
21281705006 | ‘.5 =m0 [F B = kab i or S ikiit2 | sh SR F R jhopleg L2k (B)| 72.11 | 75.75 147.86 49.29 49.29
21281702324 | ‘F.E — Wm0 BB =ik i pA b on e ikiZih2 | i SRR jhaRleg L2k (B)| 68.56 | 79 147.56 49.19 49.19
21281903701 | ‘F.E — Wm0 i B = kmh i i on MG ikiit2 | sh SR F LR jhoaRleg L2k (B)| 70.99 | 75.25 146.24 48.75 48.75
21281704719 | ‘H.E =Wt i B = wkmh A on MG ikiiit2 | iSRRI jhaRleg L2k (B)| 82.81 | 59.5 142.31 47 44 47 44
21281700102 | ‘F.E — Wm0 i B = wkmb i i on S ikiir2 | sh SRR jhopleg L2k (B)| 62.21 | 79.25 141.46 47.15 47.15
21281901301 | ‘.5 —WemhiiiR o [FL B = wkm A b on MseeikiZir2 | i SRR HE fhaRleg L2k (B)] 90.96 | 50 140.96 46.99 46.99
21243302403 | ‘F.E =W BB =ikl A hon M ikiiir2 | i SRR fEaRleE L2k (B)| 74.84 | 65 139.84 46.61 46.61
21281903112 | ‘F.E —WemhiiiR 0 [F B =k iA bon Msieikixit2 | i SRR fhapleg L2k (B)| 63.11 | 73 136.11 45.37 45.37
21281901718 | ‘F.E — Wm0 [ B = kmh i A on) MG ikiir2 | th SR F R fhoRlee L2k (B)| 71.76 | 61.25 133.01 44.34 44.34
21243302616 | FE —WemhiiR 0 BB =ikl A hon M ikiiir2 | i SRR jhaRlep L2k (B)| 7455 | 58 132.55 4418 4418
21281703910 | ‘F.E =m0 i B = kmb i i on) S eikiit2 | sh SR F R jhoRleg L2k (B)| 71.83 | 59.75 131.58 43.86 43.86
21281705923 | ‘F.E —Wemh R0 BB =ik A b on ik T2 | i SRR jEaRleE L2k (B) | 7251 | 59 131.51 43.84 43.84
21281900927 | ‘H.E — et o i B = kg A b on M iki%ir2 | i SR F R jhaRleE L2k (B)| 68.86 | 60.5 129.36 43.12 43.12
21281706822 | ‘F.E — Wm0 [ B = kmh i i on MGk iir2 | th SR F R jhaRleE L2k (B)| 69.02 | 60.25 129.27 43.09 43.09
21281700403 | ‘H.E —Wemh iR 0 i B = kmb i or S ikiit2 | sh SRR jhopleg L2k (B)| 60.61 | 62.75 123.36 41.12 41.12
21281701109 | ‘F.E =Wl o i B = kg A or M ikixit2 | st SRR HE jhaRleg L2k (B)| 56.65 | 66.5 123.15 41.05 41.05
21281901708 | ‘.5~ 0 [F B = wkm A bon Msi e ikiZit2 | i SRR fhaRleg L2k (B)| 56.36 | 62 118.36 39.45 39.45
21243300207 | ‘F.E =W 0 i B = ikm i hon S eikiir2 | sh SR F R jhoRlee L2k (B)| 64.43 | 51.25 115.68 38.56 38.56
21281701617 | ‘F.E =R o i B —kmb i ror S ikiir2 | st SR F LR jhopleg L2k (B)| 63.79 | 42.25 106.04 35.35 35.35
21281900808 | ‘.5 — el .0 [ B = kmb i i on) MG ikiir2 | th SR F LR jhoRleg L2k (B)| 61.61 | 38.75 100.36 33.45 33.45
21281703206 | H B —iEhiiikon [F 8 =gk ibon 9 feisiir2 | #haRF e 428 fhapleLhide (B) | B | 6% 0 0.00 0.00
21281903401 |F B —dEhifikrbn i B =gk ibon 9 feisiir2 | #haRF e 428 fhaple e (B)| 6% | 6% 0 0.00 0.00
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21243300515 | ‘B =l e BB =g ron s ikikit2 | s SRk fapler L2k (B)| 8% | % 0 0.00 0.00
21243300627 | ‘H.E =g e BB =g R on skt | s SRR i aReE L E (B) | 8% | % 0 0.00 0.00
21243301311 | ‘BHE =ik e BB =g on skt | s SRtk foaplep L2k (B)| 8% | % 0 0.00 0.00
21243302011 | ‘B =ik e BB =gk on skt | s SRl ik fhoplep L2k (B)| 8% | % 0 0.00 0.00
21243302528 | ‘H.E =lEghiiiR e BB =g AR un Skt | s SRR AR R E (B) | 8% | % 0 0.00 0.00
21243302829 | ‘BB =Wkl ik b0 [ B =ik A e ikikit2 | ARl el L2k (B)| vk | Bk 0 0.00 0.00
21281700221 | ‘H.E =gk e BB =g R ron s ikikit2 | s SRl L2k foaplep L2k (B)| 8% | % 0 0.00 0.00
21281700528 | ‘H.E =itk e BB =g R un e ikikit2 | s SRRk faRe R L2k (B) | 8% | % 0 0.00 0.00
21281700619 | ‘B =gtk e BB =g R on siaeeikikit2 | s SRk foplep L2k (B)| 8% | % 0 0.00 0.00
21281701110 | ‘BH.E =gtk e BB =g R on skt | s SRl L2k faplep Lk (B)| 8% | % 0 0.00 0.00
21281701124 | ‘B =gk e BB =g R don s eikikit2 | s SRtk faplep Lk (B)| 8% | % 0 0.00 0.00
21281701917 | ‘H.E =gtk e BB =g iR on siaeeikikit2 | s SRl L2k foplep L2k (B)| 8% | % 0 0.00 0.00
21281702802 | ‘H.E =gtk ey BB =g R bun siaseikikit2 | s SRl L2k faplep L2k (B)| 8% | % 0 0.00 0.00
21281703423 | ‘H.E =ik e BB =g R on siae kit | s SRk faplep L2k (B)| 8% | % 0 0.00 0.00
21281703627 | ‘H.E =il e BB =g R on skt | s SRk faplep L2k (B)| 8% | % 0 0.00 0.00
21281703902 | ‘H.E =gtk ey BB =g iR on saeeikikit2 | s SRl foplep L2k (B)| 8% | % 0 0.00 0.00
21281704315 | ‘H.E =ik e BB =g R on skt | s SRtk faplep L2k (B)| 8% | % 0 0.00 0.00
21281704516 | ‘H.E =ik e BB =g R on s ikikit2 | s SRl L2k foplep L2k (B)| 8% | % 0 0.00 0.00
21281704825 | ‘H.E =itk ey BB =g R un Siaseikikit2 | s SRl L2k foplep L2k (B)| 8% | % 0 0.00 0.00
21281705206 | ‘H.E =itk e BB =g iR on skt | s SRk fhoplep L2k (B)| 8% | % 0 0.00 0.00
21281705323 | ‘H.E =ik e BB =g R on ekt | s SRk faRler L2k (B)| 8% | % 0 0.00 0.00
21281705518 | ‘B =gtk e BB =g R on Saeeikikit2 | s SRk faplep L2k (B)| 8% | % 0 0.00 0.00
21281705525 | ‘H.E =itk e BB =g R on skt | s SRk fapler L2k (B)| 8% | % 0 0.00 0.00
21281705811 | ‘B =gtk ey BB =g iR on siaeeikikit2 | s SRl L2k foplep Lk (B)| 8% | % 0 0.00 0.00
21281705819 | ‘B =gtk e BB =g iR on Saeeikikit2 | s SRl faplep L2k (B)| 8% | % 0 0.00 0.00
21281705823 | ‘H.E =gtk ey BB =g R bun skt | s SRk faRler L2k (B)| 8% | % 0 0.00 0.00
21281706201 | ‘B =gtk e BB =g iR on saeeikikit2 | s SRl foplep L2k (B)| 8% | % 0 0.00 0.00
21281706224 | ‘H.E =itk e BB =g R on s ikikit2 | s SRtk foaplep Lk (B)| 8% | % 0 0.00 0.00
21281706315 | ‘H.E =gk e BB =g R on siaeeikikit2 | s SRtk foaplep Lk (B)| 8% | % 0 0.00 0.00
21281706402 | ‘H.E =ik e BB =g R on skt | s SRtk foplep L2k (B)| 8% | % 0 0.00 0.00
21281706711 | ‘H.E =gtk e BB =g iR on s eikikit2 | s SRk fhoplep L2k (B)| 8% | % 0 0.00 0.00
21281900421 | ‘H.E =itk e BB =g R on saseikikit2 | s SRk fapler L2k (B)| 8% | % 0 0.00 0.00
21281900425 | ‘H.E =ik e BB =g R on S ikt | s SR fapler L2k (B)| 8% | % 0 0.00 0.00
21281900509 | ‘B =gtk ey BB =g iR on siaeeikikit2 | s SRl faplep L2k (B)| 8% | % 0 0.00 0.00
21281900614 | ‘B =gtk e BB =g R on s ikikit2 | s SRk faplep L2k (B)| 8% | % 0 0.00 0.00
21281900920 | ‘B =Wkl ik b0 [ B =ik Ao daefeikitit2 | 4k apleg it a2k (B)| vk | ik 0 0.00 0.00
21281901202 | ‘H.E =gtk ey BB =g R on Siaeeikikit2 | s SRl L2k faplep L2k (B)| 8% | % 0 0.00 0.00
21281901630 | ‘B =gtk ey BB =g iR on Siaeeikikit2 | s SRl L2k faplep L2k (B)| 8% | % 0 0.00 0.00
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21281901907 |H B —hifihrL [F B = iephiikibon Waefeisiir2 | #haRF e 428 fhople i (B)| 6% | 6% 0 0.00 0.00
21281901917 |H B —MhiiikrbL i B =gk ihon S feisiir2 | #haRF e 428 fhople e (B) | 6% | 6% 0 0.00 0.00
21281902304 | H B —EEhiiikrn i B =gk ibon W feisiir2 | #hSRF e 428 fhaple e (B)| B | 6% 0 0.00 0.00
21281902310 |H B —dEEhiiikrbn i 8 = phiik ibon 9 feisiir2 | #haRF e 428 fhople e (B) | 6% | 6% 0 0.00 0.00
21281902501 |F B —dghiiikrbn i 8 =gk ibon 9 feihiir2 | #hSpF e 428 fhople L (B)| 6% | 6% 0 0.00 0.00
21281902515 | H B —EEhiiikbn i 8 =gk ihon 9 feisiir2 | #haRF e 428 fhaple L (B) | B% | 6% 0 0.00 0.00
21281902924 | FH B —iEghiiikrL i B =gk ihon 9 feisiir2 | #h SR F e 428 fhaple L (B) | B | 6% 0 0.00 0.00
21281904318 | H B —ghiiihrbn [F B =gk ibon 9 feisiir2 | #haRF e 428 fhaple e (B) | B% | 6% 0 0.00 0.00
21281903210 | F.E =Wk i B —kahiiarbor B R | SRR kSRR L2k (B) | 104.31 | 106.3 210.56 70.19 70.19
21281902421 | F.E =Wk i B =ik idiAarbon B R | SRR fEaRleE L2k (B) | 98.42 | 109.8 208.17 69.39 69.39
21281904119 | F.E =R i B —wkahiiiaror  BE R | SRR pE SRR L2k (B)] 103.21 | 93.25 196.46 65.49 65.49
21281902925 | H.E =R i B = kahiiarhon B R | SRR pE SRR LR (B)] 101.71 | 93.25 194.96 64.99 64.99
21243302909 |‘HE =gtk B8 =gtk 8B £ Pl LRk SRl L2k (B)| 90.49 | 100.8 191.24 63.75 63.75
21281901615 | 5 —Wemhiiifk e i B —wkmphiiArbor & R | SRR i aRE LR (B)] 9525 | 94 189.25 63.08 63.08
21281705411 | FLE =Wk i B =k iiiarbn  BE R | SRR EE fE BRI (B)] 9091 | 97 187.91 62.64 62.64
21281904227 | H.E =m0 BB —kahiiarhon 3B R | SRR pE SRR LR (B)] 90.8 | 96.75 187.55 62.52 62.52
21281705523 | F.E =R 0 i B = kahiiarbon B R | SRR g SRR LR (B)] 959 [ 91.25 187.15 62.38 62.38
21243302824 | F.E —WemhiiAR 0 BB ki Aarhn B R | SRR jE SRR L2 (B)] 102.05 | 84.5 186.55 62.18 62.18
21243300502 | F.E =Wk i B —kahiiarhon B E R | SRR pE SRR L2k (B)] 93.04 | 91.75 184.79 61.60 61.60
21243300723 | B.E —WemhiiR g BB —ikahiiarhn B R | SRR pE SRR L2k (B) ] 100.97 | 83.5 184.47 61.49 61.49
21281904415 | F.E =Wt i B —wkphiiarbn B E R | SRR fEaRleE L2k (B)| 88.14 | 96 184.14 61.38 61.38
21281700710 | ‘F.E =Wtk i B =ik iiiarbn  &E R | SRR fEaRleE L2 (B)] 100.38 [ 83 183.38 61.13 61.13
21281901219 |‘HE —lkgiitiArp.r B8 =gtk 8 £ Bl LRk it SRlee L2k (B)| 87.9 92 179.9 59.97 59.97
21281702907 | H.E =Wtk o i B —okmbiiiaror B R | SRR pE SRR L2k (B)] 98.05 | 80.75 178.8 59.60 59.60
21281706726 | FL.E =Wk i B —wkghiiarbn B R | SRR EE fEaRleE L2 (B)] 86.25 | 91 177.25 59.08 59.08
21281702112 | ‘F.E =Wtk i B —kabiiarbor 3B R | SRR pESaReE L2k (B)| 89.77 | 85.75 175.52 58.51 58.51
21281900522 | F.E =R 0 i B = kah i iarhon B R | SRR kSRR L2k (B)| 93.88 | 79.25 173.13 57.71 57.71
21281706011 | 5 —WemhiifR e i B —wkmhiiarbn  &a R | SRR EE fE BRI (B)] 92.09 | 81 173.09 57.70 57.70
21243300507 | F.E =Wk i B —wkahiiarbon B R | SRR jEaRleE L2k (B)| 87.36 | 85.5 172.86 57.62 57.62
21281705114 | F.E =Wk i B —kahiiaror  Ba R | SRR pEaReE L2k (B)| 92.82 | 79.75 172.57 57.52 57.52
21281900830 |‘H & —leghiitiArp.r B8 =ikphiiiApr] 3 £ Rl LR SRl L2k (B)| 81.62 | 89.25 170.87 56.96 56.96
21243301408 | F.E =R i B —kahiiiarhon B R | SRR pE SRR L2k (B)| 96.83 | 73.75 170.58 56.86 56.86
21281902308 |‘HE —leghiitiArp.r B8 =gtk 3By £ Rl LR SRl L2k (B)| 79.61 | 88.25 167.86 55.95 55.95
21281901108 | .5 =Wtk i B —wkmhiiarbr & R | SRR jE SRR L2 (B)| 93.64 | 735 167.14 55.71 55.71
21243301809 | F.E =R i B —kmhiiarbon B R | SRR kSRR L2k (B)| 75.03 | 89.25 164.28 54.76 54.76
21281701420 | F.E =Wtk i B —wkabiiiarbor 3B R | SRR pESaReE L2k (B)| 80.91 | 82.25 163.16 54.39 54.39
21281900428 |‘HE —lgiitiArp.r S =gtk 8B £ Rl LR SRl L2 (B)| 80.92 | 78 158.92 52.97 52.97
21243300304 |‘HE —lgiiitiArpos 1S =ikphiiikpor] 3 R Rl LR SRl L2k (B)| 69.78 | 89 158.78 52.93 52.93
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21281900926 |‘HE —lgiitiArp.s S =gtk 8BS R Rl LR fh SRl L2k (B)| 65.57 | 74.75 140.32 46.77 5 | 51.77
21281702505 | ‘B 5 =Wkhiftik b 18 =ikgididcohn &5 3R | ARl aRlE L2k (B)] 59.76 | 94.5 154.26 51.42 51.42
21281704602 |t B =Wkmhlitik e B8 =wkgiidobn &S TR | A aRlE Rk aRlE LRk (B)] 76.03 [ 77 153.03 51.01 51.01
21281706703 |‘E B =Wtk b0 18 =ikgidiAdn &5 35 | ARl el L2k (B)| 70.21 | 82.25 152.46 50.82 50.82
21281706020 |‘H S —lghiitiArp.r B8 =ikphitikpor] 8 £ Rl LR SRl L2k (B)| 64.28 | 87.5 151.78 50.59 50.59
21281702302 |‘HE —lgiitiArpor 1S =gtk 3 £ Rl LR SRl L2k (B)| 83.12 | 66 149.12 49.71 49.71
21281704117 |'B B =Wkmhitikbon 8 =wkgiitdobn &S 5 | - aRleEe ik aRlE LRk (B)] 80.67 [ 66 146.67 48.89 48.89
21281900918 | ‘i =Wkhiftik b (18 =ikgidiAdn &5 35 | ARl el L2k (B)| 7917 | 66.75 145.92 48.64 48.64
21281903828 |‘H & —lpiiiArp.0 S =ikphitiApr] 8 R Rl LR SRl L2 (B)| 58.43 | 86.5 144.93 48.31 48.31
21281901511 |‘B B =Wkhiftikrbon B8 =wkgiidobn &S | A aRlE Rk Rl Rk (B)] 64.14 [ 77 141.14 47.05 47.05
21243302203 |‘HE ZgiitiArps B S =gtk 8B R Rl LRk SRl L2k (B)| 80.34 | 56.5 136.84 45.61 45.61
21281705130 |‘EE =Wkmhitikbon B8 =wkgiitdobn &S R | aRleE Rk aRlE LRk (B)| 53.01 [ 77 130.01 43.34 43.34
21281901029 |‘HE —legiitiArp.r B8 =gtk 3B £ Rl LR Rl L2k (B)| 29.95 | 61.25 91.2 30.40 30.40
21243300323 |‘EE =Wkahitikb o B =ikgidi Aoy &S R | ARl HaRlr LRk (B)| Bl | Bk 0 0.00 0.00
21243301104 |‘EE =Wtk b B8 =gy &5 3R | SRl HaRlr LRk (B)| vl | Bk 0 0.00 0.00
21243302017 |‘B B =Wkphitikbon 18 =gy &S 3R | SRl HaRlr LRk (B)| vl | Bk 0 0.00 0.00
21243303029 |‘EE =Wkahitikb o B8 =ikgiiiAch.y &S R | ARl HaRlr LRk (B)| Bl | Bk 0 0.00 0.00
21281702416 | B =Wkahiftik oo (8 =ikgiidodn &5 315 | SRl HaRlr LRk (B)| s | Bk 0 0.00 0.00
21281703710 |‘E B =Wtk b (8 =wkgididodn &5 35 | ARl HaRlrLH2k (B)| Bk | Bk 0 0.00 0.00
21281703713 |‘B B =Wkahiftik b0 B =ikgiiAodn &5 35 | SRl HaRlrLH2k (B)| vl | Bk 0 0.00 0.00
21281705307 |‘E B =Wkahiftik b B8 =ikgididodn &5 35 | SRl HaRlrLH2k (B)| vk | Bk 0 0.00 0.00
21281706419 |t =Wkahiftik b 18 =ikgiiddy &5 35 | SRl HaRlr LRk (B)| vk | Bk 0 0.00 0.00
21281706526 |5 =Wkahiftik b (8 =ikmididdy &5 3R | ARl HaRlr LRk (B)| Bl | Bk 0 0.00 0.00
21281900622 |‘EE =Wkhiftik b0 8 =ikgidiAdy &5 R | SRl HaRlr LRk (B)| Bl | Bk 0 0.00 0.00
21281900917 |‘E B =Wkhliftik b (8 =wkmiiAdy 485 35 | SRl HaRlr L2k (B)| vk | Bk 0 0.00 0.00
21281901323 |‘E B =Wkhiftik b0 B8 =ikmidiAdh.n &S 3R | ARl HaRlr LRk (B)| Bl | Bk 0 0.00 0.00
21281902417 |‘EE =Wtk b0 B8 =ikgidiAodn &5 35 | ARl HaRlr L2k (B)| Bl | Bk 0 0.00 0.00
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